<0 90
]
&
% 0,4'“
dssured
150 9001 055

Hydraulic

Shock Absorber

KOS

Best Energy Absorption
www.kobapage.com



Flexibility

Versatility

Innovative Solutions

OVERVIEW

KOBA = £z Y ZlE1} #35l0] 200 A2t &= 7| &2 clekst SRME MSotm o, A[EFQl Al I EXES
AA”RIE S5to] &3, I8, =M, Ex, 244, gH=A FH| S 7141 2HH Ak 20k Mt Z X Shock Absorber, Hydraulic Buffer,
Viscoelastic Buffer, Hydro Check, Rate Control, Gas Spring, Special Damper S& 444510 ZLHEEat ofL|2} & A|#|ol|

a6t AU L.

of|zl nH S| Cciust T E I H| EFE At MIZS0l oM = whE 7|2t 2|10 2=

ot =2
st 2o, BAfs ATPHLE Solof &S oo XN LAS SE3tstn ASLHCH

KOBA & B 2 H1F FXIZM, AP M2 Olats SEoleh ZUR JIRo= HEep| Sistol Xidmel e77HY S S
20| she HE 0| IEY MHIAS HITY RS o5 ST



|r

Fu'

|

APPLICATIONS

K
|

® Pick & place robotics

Y

mi
118 -'
;

® (lass forming equipments

il

® Plastic bottle making

® Flectronics / Semiconductor

® Automotive robotics & Transfer lines

® Assembling conveyors

® Material handling

® Printing machine

® Paperrolls

® Packing machinery

® Military

® Aerospace

® Cranes : Bridge & Trolley, Container,
Overheads

® Steel mills : Slab ingot, Crushing, Turntable

® Flevator

® Railway : Coupler & Side Buffers,
Fixed rail end stop, Friction stop

® Automated storage/Retrieved system

® Food/ Beverage

® Medical / Pharmaceutical equipments

® Textile
CLIENTS
s &0 @ [
p— Serprmaraor HYUNDAI KIA MOTORS KORE A
HYUNOAI, R
POSCO SYeeL " Ymammox HUMHDTIRESq Rotem # S=rienn
.h‘\ﬂ -m'
T @©Leun IA % @ Hanuna
EVERLAND
HYLNDAI

HYUNDAI
powerTecH Mando DYMOS s FA YuDo-siArR

SIEMENS @ iEEE LEBHERR  FITCH W

Components T AT A_




Hydraulic Shock Absorbers & Buffers

Applications




Working Process

—1
Sk |
i
it
L

- - —
Q L‘
o

Packing Test Product Inspection




At aglance

ZM3& Shock Absorbers - KMA Series

Max.Energy Max.Energy Effective
/ Cycle / Hour Weight
(Nm) (Nm/h) (kg) Jareas
ErC We
KMA10-07 7 5.5 15,000 1-123 2.4 5.4 21 M10x1.0
KMA12-14 14 21.5 35,000 4-477 3.7 9.6 & M12x1.0
KMA14-12 1.5-494
12 21.5 45,000 3.6 9.8 55 M14x1.5
-12LV 25.4-1,650
KMA16-12 2-527
12 27 51,000 4.9 11.4 80 M16x1.5
-12LV 31.9-3,375
KMA20-16 4.5-1,230
16 61 63,000 8 19.6 145 M20x1.5
-16LV 72.1-5,600
KMA25-25 8.3-2,150
25 177 113,000 10.2 29.5 285 M25x1.5
5LV 209.4-
15,750
KMA27-25(F) 8.3-2,150
25 177 113,000 10.2 29.5 305 M271.5(F]
25(FILV 209.4- MZPa.0
15,750
KMA27-40 20-5,120
40 283 149,000 B 10 31 429 M27x2.0
oLy 25,200
KMA30-35 35 356 137,000 25-6,950 17.8 50.3 610 M30x1.5
KMA33-25 25-6,980
25 314 120,000 17.5 48.8 454 M33x1.5
-25LV 97-60,930
KMA33-50 50-14,000
50 628 150,000 192 13.6 653 580 M33x1.5
-o0Lv 120,312
KMA36-25 25-6,980
25 346 125,000 25 56.2 725 M36x1.5
-25LV 97-60,930
KMA36-50 50-14,000
50 692 160,000 22.5 60 885 M36x1.5
-50LV 192-

120,312




At aglance
X}7| =& & Shock Absorbers - KMS Series

Recoil
Force
()]

KMS08-06 6 5 8,000 0.8-2.8 2.5-12.3 10-111 2.2 5.8 10 M8x1.0

KMS10-08 8 11 14,500 1.8-6.1 B.8=21 22-244 2.5 6.9 18.5 M10x1.0

KMS12-10 10 18 34,000 2.9-10 9-44 36-400 3.7 9.6 23 M12x1.0
KMS14-15(F) 15 34 51,000 5-18 17-84 68-755 38 133 43 :44112:11;]“:]

KMS20-20 20 105 55,000 13-39 36-210 173-2,333 8.2 23 140 M20x1.5

M25x1.5(F)

KMS25-25(F) 25 226 69,000 28-85 78-452 373-5,022 " 29 265
M25x2.0

KMS36-25 25 490 115,000  61-185 170-500 435-10,888 25 64.3 758 M36x1.5

LONG STROKE TYPE

KMS14-20 20 13 45,500 2-7 6.5-32 26-288 3.6 139 71 M14x1.0
KMS20-30 30 52 31,100 8.5-28 26-128 104-1,155 63 168 188
M20x1.5
-50 50 82 37,800 13-45 41-202 164-1,822 78 166 268.6

KMS25-40 40 110 94,000 18-60 55-271 220-2,444 137 309 3425

-50 50 120 41,000 19-66 60-296 240-2,666 13.9 305 4575 M25x2.0

-80 80 160 54,200 26-88 80-395 S20-3,555 14.9 298 5775

KMS36-50 50 220 162,000  35-121 110-543 440-4,888 244 446 994
M36x1.5

-80 80 340 232,800  55-188 170-839 680-7,555 254 456 1,280




At aglance
ZM3& Shock Absorbers - KSA Series

Max.Energy | Max.Energy | Effective IR=§::
Weight (N) Weight Thread
(kg) (kg)
We
e [ o

KSAGS-25 25 450 195000  50-13354  49.7 828 113
Mé5x1 5
50 50 1300 260,000 99-26700 456 84 13
7575 2,000 300,000 148- 443 863 152
: : 39,060 : : :
KSAG4-25 25 1,250 152000  92-26400 618 110 2.9
50 50 2,500 248,000 185- 60.8 133.2 33
: : 48,800 : : :
75 75 3,750 265,000 277~ 614 1483 3.8
: : 73,240 : : :
M64x2.0
100 100 5,000 360,000 370- 59.4 160.1 4
: : 97,650 : :
125 125 6,250 413,000 Hei- 57.1 160.4 7.7
: : 122,000 : : :
150 150 7,500 450,000 555 51 166.8 8.9
: : 146,480 : :
KSA85-25 25 2,000 330,000 e~ 132 2458 12.2
: : 39,600 : :
50 50 4,000 462,000 296- 1316 271.7 144
: : 78,100 : : :
4bds-
75 75 6,000 480,000 17500 130 325.1 17
M85x2.0
1100 100 8.000 825,000 591- 125.4 327.7 20
: : 156,300 : :
125 125 10,000 859,000 Ll 126.6 3433 23.6
: : 195,300 : : :
930-
150 150 12,000 901,000 126.6 386.7 28

220,300




At aglance

ZM3& Shock Absorbers - KHA Series

Max.Energy | Max.Energy Effective el
/ Cycle / Hour Weight Force Thread
(Nm) (Nm/h) %) (N) ==
KHA42-25 36-3,600
25 250 125,000 28 56 1.25
-25LV 295-52,000
-50 45-6,150
50 500 166,000 38 86 1.4 M42X1.5
-50LV 591-104,000
-75 54-9,500
75 750 200,000 32 88 1.6
-75LV 887-156,000
KHAb4-50 82-12,600
50 1,300 270,000 65 148 3.7
4,062-
U 277,500
-100 115-17,000
100 2,600 360,000 45 157 45 MK EPE)
-100LV 8,125
555,000
-150 140-22,000
150 3,900 420,000 47 199 53
12,187-
-150LY 832,500
KHA85-50 50 2,300 370,000 200-37,000 148 315 b4
90 90 4,000 650,000 230-40,000 121 365 7.6
M85X2.0
-125 125 5,700 930,000 300-43,000 14 365 8.6
2165 165 7,300 1,210,000 360-45,000 98 429 9.8
KHA115-50 50 3,700 1,501,000 370-44,000 187 427 16
-100 100 7,400 1,805,000 370-57,000 178 482 19
-150 150 11,100 2,100,000 370-89,000 185 538 21 M115x2.0
=200 200 14,800 2,405,000  390-118,000 185 665 31
=250 250 18,500 2,710,000  440-145,000 184 649 34




At aglance
Hydro-Pneumatic Buffers - KHG Series

Max Side

Max.Energy | Max Buffer Force Load Angle
/ Hour Force (kN) () Weight
(kJ/h) (kN) . - (kg)
KHG 65-25 25 2 100 100 3.2 3.5 3.5 6
-50 50 4 200 100 4.7 885 38 7
-75 75 6 300 100 5.3 3 3 8
-100 100 8 400 100 1.0 6.6 3 3 9
-125 125 10 500 100 6.6 2.5 2.5 10
-150 150 12 600 100 6.6 2 2 il
-200 200 16 800 100 9 2 2 12
KHG 85-50 50 8 600 200 10 4 BES) 12
-100 100 16 1,200 200 13 3 3 15
-150 150 24 1,800 200 1.5 17 2 2 18
-200 200 32 2,400 200 19 1.8 1.5 20
-250 250 40 2,850 200 20 1.5 1.2 22
KHG 100-50 50 M 750 280 16 5 4 17
-80 80 18 1,200 280 16 4.5 4 20
-100 100 23 1,600 280 16 5 4 25
-120 120 27 1,800 280 20 4.5 3 27
-150 150 34 2,300 280 20 4.5 3.5 28
-200 200 46 3,100 280 20 4 3 34
-250 250 58 3,600 280 # 25 3.5 2.5 39
-300 300 69 4,200 280 25 3 2 43
-400 400 90 5,400 280 25 2.5 2 49
-500 500 110 6,600 275 25 2.5 2 55
-600 600 125 7,200 260 25 2 1.5 62
-800 800 140 7,900 210 25 2 1.5 73
KHG 120-100 100 45 2,900 570 38 4 4.5 41
-150 150 70 4,400 570 38 4 3 48
-200 200 92 5,800 570 38 3.5 3.5 58
-250 250 114 7,200 570 40 3 J 65
-300 300 130 8,500 450 40 3 2.5 72
-400 400 160 10,000 450 - 40 2.5 2 78
-500 500 180 11,500 450 40 2 1.5 86
-600 600 200 12,800 450 40 2 1.5 95
-800 800 240 13,600 375 40 2 1.3 112
-1000 1,000 280 14,500 350 40 2 1.3 118




Max Side
Max.Energy | Max Buffer Force Load Angle

/ Hour Force (kN) () Weight
(kJ/h) (kN) (kg)
KHG 130-250 250 120 8,200 550 40 4.5 4 85
-300 300 140 9,600 550 40 4.5 4 92
-400 400 180 12,000 550 50 4 3.5 106
-500 500 220 15,000 550 +0 50 85 38 118
-600 600 260 17,800 550 50 2 1.5 127
-800 800 300 19,000 460 50 2 1.5 148
KHG 140-100 100 62 3,800 760 38 4.5 4 60
-150 150 91 5,800 760 65 4.5 4 72
-200 200 124 9,800 730 70 4 3.5 85
-300 300 175 12,000 730 70 D 2.5 110
-400 400 234 15,000 730 5.9 78 2.5 1.5 135
-500 500 270 17,000 680 78 2 1.3 150
-600 600 300 20,000 630 78 2 1.3 160
-800 800 2B 25,000 510 78 2 1.3 185
-1000 1,000 360 27,500 450 78 1.6 1.2 200
KHG 150-100 100 70 4,000 880 45 4 4.5 77
-200 200 136 7,200 850 75 4 3.5 90
-300 300 183 13,000 770 75 BEy 3.8 135
-400 400 243 13,500 760 75 3 3 146
-500 500 285 17,400 710 o 85 3 2.5 166
-600 600 323 21,000 670 85 2.5 2 176
-800 800 367 25,600 580 85 2 1.5 220
-1000 1,000 410 28,000 510 85 2 1.5 253
KHG 180-100 100 80 4,500 980 75 4.5 4 110
-200 200 160 10,000 980 80 4.5 4 126
-250 250 200 12,800 980 80 4.5 4 140
-400 400 280 14,500 880 90 4.5 4 168
-500 500 350 18,000 880 ° 100 4 3B 198
-600 600 430 23,000 890 100 3.5 3 235
-800 800 570 27,000 890 100 3 2.5 295

-1000 1,000 720 29,000 890 110 2.5 2 360




At aglance
Hydraulic Buffers - KHS Series

Max Energy | Max Energy | Max Buffer Recoil Max Side
/ Cycle / Hour Force Force Load
(kJ) (kJ/h) (KN) (kN) Angle
Er ErC Fs (°)

KHS 64-50 50 0.5 10 12.5 6.5 14.8 3 3
KHS 90-50 50 4 80 100 14.2 30.5 3 8.5
75 75 6 108 100 10.5 19 3 9.5

-100 100 8 128 100 9.9 42 3 12

KHS 100-50 50 4.4 79 110 14.2 30.5 3 14
-100 100 8.8 140 110 9.9 42 3 17

KHS 130-70 70 10 170 179 18.2 42.5 3 21
-100 100 15 270 188 17.8 48 3 24

-150 150 21 294 175 18.3 53.5 2.5 28

KHS 170-80 80 22 396 340 18.2 443 3 38
-150 150 41 574 340 18.3 53.5 2 48

KHS 190-100 100 40 720 500 17.8 48 2.5 52
-150 150 60 840 500 18.3 53.5 2 A

KHS 220-100 100 44 792 550 40.5 134 2.5 69
-150 150 66 924 550 41.8 131 2 76

KHS 250-100 100 60 1,080 750 38.5 111.2 2.5 130
-150 150 90 1,260 750 34.2 107.5 2 140

-200 200 120 1,560 750 3B 105 2 150

-300 300 180 2,160 750 38 121.8 2 170

KHS 300-150 150 117 1,638 975 46 142 2 186
-250 250 180 2,340 1,125 45 151 1.5 206
KHS 340-200 200 200 2,600 1,250 51 162 1.5 275
-300 300 300 3,600 1,250 49 176 1.5 305
KHS 360-250 250 294 3,822 1,470 68 178 1.5 324

-400 400 470 4,700 1,470 b4 182 1.5 376




At aglance

Stacker Crane Buffers - KCSC Series

B R A e o
(kJ) (kJ/h) (kN) el
ErC Fs

KCSC90-50 50 4 193 75 2.5 13
-100 100 7 395 75 2 14
-150 150 10 588 75 2 15
-200 200 13 784 75 2 16
-250 250 16 839 75 1 17
-300 300 20 940 75 1 18
-350 350 23 1,265 75 1 19
-400 400 21 1,150 67 0.5 20
-450 450 20 1,090 55 0.5 21
-500 500 19 1,060 47 0.5 22
-600 600 15 880 31 0.5 25
-700 700 13 610 24 0.5 33
-800 800 12 539 19 0.5 36
KCSC110-50 50 5 296 115 2.5 14
-100 100 10 568 115 2 16
-150 150 15 881 115 2 20
-200 200 20 934 115 2 22
-250 250 25 1,056 115 1 24
-300 300 29 1,186 115 1 26
-350 350 34 1,352 115 1 28
-400 400 39 1,517 115 0.5 30
-450 450 b 1,680 115 0.5 32
-500 500 49 1,845 115 0.5 34
-600 600 59 2,168 115 0.5 36
-700 700 69 2,485 115 0.5 42
-800 800 79 2,806 115 0.5 50
-900 900 88 3,130 115 0.5 52
-1000 1,000 73 3,483 92 0.5 58
-1200 1,200 40 2,758 63 0.5 65
-1400 1,400 41 1,917 37 0.5 75




At aglance

Stacker Crane Buffers - KCSC Series

ek B e L
(kJ) (kJ/h) (kN) G
Er ErC Fs
KCSC130-50 50 10 590 245 2 13
-75 75 15 659 245 1.5 15
-125 125 25 815 245 1.5 17
-200 200 39 1,110 245 1.5 21
-250 250 49 1,314 245 1 23
-300 300 58 1,512 245 0.5 26
-350 350 68 1,736 245 0.5 29
-400 400 78 1,934 245 0.5 32
-450 450 88 2,133 245 0.5 36
-500 500 97 2,329 245 0.5 42
-600 600 116 2,714 245 0.5 49
-700 700 136 3,102 245 0.5 56
-800 800 155 3,486 215 0.5 62
-900 900 167 3,785 181 0.5 69
-1000 1,000 117 3,824 147 0.5 80
-1200 1,200 103 4,722 107 0.5 102
-1400 1,400 73 2,851 66 0.3 107
-1500 1,500 66 2,438 55 0.3 110
KCSC200-50 50 16 943 370 2 90
-100 100 31 1,534 370 15 95
-150 150 47 1,756 370 1.5 100
-200 200 63 1,988 370 1 105
-250 250 79 2,210 370 0.5 110
-300 300 93 2,855 370 0.5 120
-400 400 126 3,304 370 0.5 130
-500 500 157 3,758 370 0.5 140
-600 600 188 4,211 370 0.5 150
-700 700 220 4,661 370 0.5 160
-800 800 251 5114 370 0.5 170
-900 900 283 5,568 370 0.5 180
-1000 1,000 240 6,117 300 0.5 190
-1200 1,200 210 4,920 200 05 210




Ma/xCEnergy Max Energy Max Shock Max Side
“E/Jc]le /“i-IJc;:;' F[?(Lc]e Load Angle
(°)
Er ErC Fs

KCSC215-100 100 48 1,804 560 2 87
-150 150 72 2,051 560 1.5 94
-200 200 96 2,290 560 1.5 101
-250 250 120 2,530 560 1 108
-300 300 143 2,775 560 0.5 114
-400 400 191 3,265 560 0.5 127
-500 500 239 4,234 560 0.5 158
-600 600 287 4,741 560 0.5 171
-700 700 334 5,209 560 0.5 185
-800 800 382 5,699 560 0.5 198
-1000 1,000 478 6,687 560 0.5 225
-1200 1,200 417 6,255 435 0.5 242
KCSC275-100 100 78 2,445 915 2 164
-150 150 17 2,766 9215 1.5 175
-200 200 156 3,053 915 1.5 186
-250 250 194 3303 915 1 196
-300 300 233 3,767 915 0.5 207
-400 400 311 4,303 915 0.5 228
-500 500 389 4,934 915 0.5 250
-600 600 467 6,186 915 0.5 309
-750 750 583 7,117 915 0.5 341
-900 900 700 8,048 915 0.5 373
-1050 1,050 816 8,970 915 0.5 405
-1200 1,200 790 8,061 827 0.5 438




At aglance
Visco-Elastic Buffer - KES Series

Max Energy Dyn. Impact
Stroke / Cycle Reaction Force Velocity
(mm) (kN) (m/s)
(kJ)
S
Er
12 .

KESM25-12 0.1 6 1 2 0.3
KESM35-22 22 0.4 14 27 4 0.7
KESM40-22 22 0.4 14 27 5 0.8
KESM50-35 85 1.5 28 60 5 1.9
KESM60-35 35 1.5 28 60 5 2
KESM75-45 45 38 45 100 5 9
KESM90-60 60 7 90 150 5 10.5
KESM110-80 80 14 130 230 5 17
KESE116-105 105 25 167 310 4 25
KESE142-130 130 50 260 500 4 37
KESE160-140 140 75 400 700 4 45
KESE180-160 160 100 470 820 4 73
KESE215-180 180 150 640 1100 4 117
KESS50-150 150 6 25 50 3 4.2
KESS75-150 150 12 66 100 3 11
KESS75-200 200 12 42 78 3 11
KESS90-200 200 25 95 150 3 20
KESS90-270 270 25 66 112 3 25
KESS110-275 275 50 118 230 3 40
KESS110-400 400 50 75 150 3 40
KESS110-400H 400 100 175 320 3 65
KESS110-600 600 100 85 230 3 65
KESS110-800 800 150 80 250 3 115
KESH130-400 400 100 190 310 3 63
KESH140-500 500 150 200 380 3 90
KESH140-400H 400 220 380 685 3 100
KESH155-650 650 250 270 490 3 135
KESH175-850 850 400 330 600 3 218
KESH200-1050 1,050 600 370 740 3 295
KESH220-1200 1,200 800 430 860 3 420

KESH230-1300 1,300 1,000 500 1,000 3 470




At aglance
Elasto-Fluid Heavy Duty Buffer - KVD Series

)
]
c
7]
0
(&)
18
Y
~
8]
>
4

Max Energy Max. Dynamic Preload
/ Cycle Force (kN)
(kJ) (kN)

KVD55-50 50 3 76 4 3
KVD100-50 50 9 9

236 23
KvD100-100 100 18 "
KvD130-100 100 &) 19

421 40
KvD130-150 150 50 20
KvD180-100 100 51 46
KvD180-200 200 102 643 88 50
KvD180-300 300 154 56

Rate Controls - KRC Series

Max. Propelllng Force
[N]
e o

KRC30-50 3,000 3,000 310
-100 100 3,000 2,600 380
-150 150 3,000 2,100 450
-200 200 3,000 1,400 530
-250 250 3,000 800 600

KRC50-50 50 11,000 11,000 2,000
-100 100 11,000 11,000 2,500
-150 150 11,000 11,000 3,000
-200 200 11,000 11,000 3,300
-250 250 11,000 11,000 3,600

KRC70-50 50 20,500 20,500 1,700
-100 100 20,500 20,500 2,100
-150 150 20,500 20,500 2,400
-200 200 20,500 20,500 2,700
-250 250 20,500 20,500 3,000
-300 300 20,500 20,500 3,300

-350 350 20,500 20,500 3,700




At aglance

Hydro-Check - KHC Series

Max Speed Adjustment Range
Stroke

(0]
2
c
[7]
0
L)
Y
S~
(8)
I
N4

( ] Load Angle Weight
L From Axis Load Limits Feed Rate Limits (g)
9 (°) (N) (mm/s)
KHC 24-15 15 385
-30 30 1 450
-0 60 0.5 100-2,500 0.2-30 635
-90 90 0.3 745
-120 120 0.2 885
KHC 31-40 40 1 1,040
40 60 0.5 450-3,500 0.2-30 1,245
-100 100 0.3 1,655
KHC 38-60 60 0.5 2,490
1,500-5,000 0.3-30
-100 100 0.3 3,310
Gas Springs
KG Series KGP Series KGL Series
Model e Model M [szdﬁ:ck
(Push Type) (N) (Pull Type) (N ]
KG 15 200 3000|3t KGP 22 300 2000]3t KGL 28-50 50
KG 18 250 6000|3t KGP 30 350 90003t -80 80
100
KG 22 300 90003t KGP 35 400 1,2000|5¢ -100 100 -
1,300
KG 30 350 1,2000(5t KGP 40 500 1,5000| & -150 150
KG 35 400 2,0000]3} KGP 50 700 2,0000|5t -200 200
KG 40 500 3,000015t KGP 75 1,000  3,0000|3}
KG 50 700 5,0000]5t
KG 75 1,000 8,000015t

KG 100 1,300 12,0000(5t




CONTENTS

© 00 N O O B~ O DN =

N 4 4 a4 4 a4 a4 A a4 a4
O ©O© 00 N o o B~ w h =+ O

R
. Shock Absorber 712} 2l2|
. Shock Absorber 22 MA 7|F
. Shock Absorber TEIME H|AMZAl
. Shock Absorber Z|ZAH U =o|Alst
. Shock Absorber KMA Series
. Shock Absorber KMS Series
. Shock Absorber KSA Series
. Shock Absorber KHA Series

. Oil Tank & Check Valve Series

. Hydraulic Buffer KHG Series

. Hydraulic Buffer KHS Series
. Stacker Crane Buffers KCSC Series
. Visco-Elastic Buffer KES Series

. Elasto-Fluid Heavy Duty Buffer KVD Series

. Rate Controls KRC Series

. Hydro Check KHC Series
. Gas Spring KG Series

. Gas Spring KGP Series

. Gas Spring KGL Series




‘f’.ﬁffﬂﬂfff{{f’.{ﬂf il .ﬂf‘.‘L.W

Shock Absorbers & Buffers

KMA Series= 28, XA o2 ZE40 0| w2} ZECIH0|YE 00|A 3007A| 12CHH| HL|2 O|M| =&5}0]
A2 & 5 US| I:} Bumper HeadZ AF23IA|H Piston ZEto]| ghAl gt 4= 91= Bottom Out A2
HIX|5H= X2 £|0f 210{ Stop Collare| 7} AL20| = 861X| k&L Ct

KMS Series= AP7| = 0|, 71 Q2|0 X2 S HA=[0] 10 E==S HTUNSZE 2=/
E4510{ AX|A|7{ FL|Ct Bumper HeadZE AL23IA|H Piston 2Etof| whalst £~ Q1= Bottom Out SALS

WX[Sh= T2 =[0f A0{ Stop Collare| :7HALE0| 26| ST

KSA Seriese= SEHE, ZAEFHOZ b F[2| Adjustment DialS 0235101 12EHA| ¥ Z O|M =X 0| 7l
SIL|C}, EESH 9F CHo| 2 Stop Collar9_| 7Sk Zatgh|ct,

KHA Series= Z08, ZXdE o2 SELT0 M2} Body Z0f| 2|%| 8 Adjustment Dial2 00{|A] 180°77tX|
8THA| He|of ofdlsto = O|M| =X 5t0] AR & 5= USLIC

KHG Seriese= S &, A7| = o2 LHE Q| Oil 2} Nitrogen Gasl| 4% &2 o Z F7|0f| H|aH
2 £ o|{X|E E55t0 ==l Nitrogen Gasol| 2|5 Piston RodE £7|A|7{ FL|C},

KHS Series= 3¢, AI7| ZHYOZ Ctxg 22|T|A LXZ S5 M7 5(0f lo] SE=S FTH =R
=S| MX|IA|F FUCH Return Springod| 2/5l Piston Rod2 22 A|7{ FLCH,

KCSC Seriesz= KHGR} FAFSH 7LZ=0|X|2H Oil Zkof| H|sl Gaszte| B|=0] M
Peak Zt0| &2 EAlS Zt4LCH

KES Series= MEMM 7 |(Visco-Elastic Fluids)Q| Zt4(24 0 AZ2I2 S 0|E5t0] U= M=
TZIt 2ot HAMESIHAM E =2 24| als g2 #ELint

KRC Series &= 0ftgt 7| PAA|ZIE 0|S & U A2HS TS + U=S M7 s/9io0f Y Y
Tl oA/l Satof het SERI0f7} kst HEelict

KHC Series (Hydro Check)= A=t5t 0|& £ M| 01, 2IX|H|0{7t Jlsstal ofibEt 0|F ZH|2te
ZHo| 0|M5HA 7Hs3I Creket £F 9| Stroke7} Z=H| |0 UASLICE,

KG, KGP Series (Gas Spring)= ZH2 Spring Constant, Long Stroke A&t 2tEA|Q| £ X|0{7|sS 7HXH
2t Plate Spring 0|Lt Coil Springoi| HIsH FE A0l 518 2 = = 52| 0oi3] 71X| EFEE 71X Ao

W AT ZA ALZE| D JELICH KOBAE DL Q| AL, MX|AS| 4= AFEHS 11215101 Stroke,

Speed Force, Mount Type S Gas Sping2 2 MAStD Q&L|Ct

KGL Series (Free Lock Gas Spring)= Gas Spring2| HtM ol ZMS P& JIX| 1 120,
215t= 2l9|9| 2|x|0f|A Lock PIng =22 =M StrokeE A 4= U= Free lock 7|50| F=7Hel MZQlL|C},




Hydraulic Shock Absorbers

KOBAE X[&= ol AyetS Edfl &41X 2l Shock Absorber £ 7iet5t0] 7| M E

MIZEl CiRtelE op 2t L7y

M 0|z{st n&351e Peko

| Fe
Aol ZX7} Ylsta S

AS3| stAtE| Clotst HIZEES

=50| Tt o=
=otn o, e HEFS2 =2 5HHE L1 s ALHME 450 J’“sh-loi AU L.
2 2Z5t0 HIE ALS s 2 3o, SRR M= S "X
HIg 26 2 SIHE[RAEL Y.

(L.
oluix] 4822 7|ZE 2o

Shock Absorberl Zt2 7| 52 71Xl #Z2 2= Rubber & Metal Spring 2 7,32 &

4 & Y2 ofzliet 25

Rubber & Spring

Hydraulic &
Pneumatic
Devices

KOBA
Shock Absorbers

DS AZYS 085l0f 230l SHE
LB o ssls ol YA 2T, 4% F o
M M0 5718 7, BAOLIRIE B4R 21
xfas|of Bizio] Jthz SHof 22 MLsict

(o]
-

Al2ir] | Dashpot, Z+< Valve S} Z40|

OrificeE 0|&3t01 Z4=5A12 | [0 2 Mg2o|
L|Ct HHH St AX|o| 42 FAL o]

to{ Stroke2| ZTHoi|A Z|CH o] H2(AH &Y

M 40
= OF I

14
o

y
7t

zall

0.

oM m
ol

Sate SHS HAAZ 0 sl 52
2~ 0 S

31517| 8l 02 79| OrificeZ 0|&35}0]

Mo ook > Bt Mo
-4
o
2
o
2
ol
Rl
0%k
i
mjo
N
=
Of
N
2
i
Rl
min

Force

Stroke

= Shock Absorber
= === Hydraulic Device
Pneumatic Device
Spring/Rubber




Shock Absorber?| 2|58 1M 9 7|5

1. Shock Absorber= Body, Bumper Head, Piston Rod, Adjustment Dial, Lock Nut® 7tM £|0o{ Q) &L C}.

.Body= LIRS Z FHE|N R[0], B2 EFE Qs HE RRF o R WEAA Fo FF Al LHALE 0/85t0f ECt
HalstAH AHEE = AFUCH

. Bumper Head= Stopper &2 sl FLC}.

. Piston Rod= Bumper Headol| 7}sl{Xl £240{|L{X|& Pistono 2 M=l FLC}.

. Adjustment Dial2 && Z=Z{0l| I}E 2EHE ZHE ¢ A F

=
=
Lock Nuti= BodyQ| LAt tRL BHA| 0| 351 #F 2IX|E Hatstn AEHo 2 1Al 4 S Ch

N

o o b~ W

Adjustment Dial Body Lock Nut Piston Rod Bumper Head

Shock Absorbere| L§5 1= U ==213|

Shock Absorber L5 0]l = Piston, Check Valve, Accumulator, Inner Tube, Multiple Orifice, Return Spring, Oil S22 M E[L|C},
StrokeZ} ZIgHElof t}2} Piston RodZ} Inner Tube LHE FIQ|SHA| E|M Check ValveZl &5|AH| E|1, OrificeE 35101 Inner TubeE
A LZE Oil2 Rodel| M| = atE Accumulatortl| XMEE|A| ElL|Ct 0|F 2+ Alof|= Check ValveZ| €2|A| £|1 Return Springdi| 2|5H
Piston RodE 4&5tH 7| el 2 S2A|AH FLch,

Inner Tube  Multi Orifice Accumulator Bumper Head

L

Adjustment Dial Return Spring Piston Rod Rod Cover

Energy E5-2| #2|

Piston Rodof| 2|7} =35t Pistono]| 2|3l Inner Tube LHF 2| Oil2 OrificeE E3l Inner Tubett2 2 E{Lt7t1, 2 A0 A
S0l X|7} QoK 2 #EtE|o] 2/F 2 WAE|HM o X E AEstA ZuCH



i
DR
a—

1" , -
l__lm
! I

— 3~ L " "

— | — _— e F ol

= Fe— l i ; b o z — —
= == : —
= Bt i ;‘—]? . ® -
= ‘!l = —— i P
—= K 1 —
k= =
= = L=-i il =5 =] : ——— -i =

= | : | = - =

Single Orifice

Single Orifice Typedl|+= Piston 2} Inner Tube2| EAJL} 17§2] HoleE 0| &t Dashpot £XE QU1
A&ty EM2 olefo| o=t 20| LIEHLICE,

H Stroke FZtol| Zx{ Orifice MA2 2F3IA El0f, = = =0l XE0| ZoHX|A| =2,

| X
Stroke 7} ZIME| wat SE7t EHEA Elo] BTHFo|lM e Mtz 2 Folx|A| Euct

o

ﬂu Orifice
2
4 =ss4
Stroke >
Multiple Orifices
E<E
02 7l 2| Orifices= Stroke7| ZIshElo]| o} £=x}& S 2 Orifices MM S 030 M Stroketl| Zx] &S UM 5A sto2M
EE=2 7oA EXIANZ 4 JAFLICh Adjustment Dialg 0|25t0{ & EME FE 0| ¥F= A0| 7tsEUCL

A i e
- Multiple Orifices
3
(]
Stroke=
EZ<E
ZHEYED 3 22ls 21, SExU A ZX™EHE

| | AV
A .

Stroke =




] mﬂﬂfﬂ#ﬂfﬂﬂﬂﬂ -a'n"l’#.hn‘ﬂ##‘#w‘

I f hl:f I||'.|.,|..
WL

= Metering Orifice
A2| Z=&E Multiple orifice?] &0 2 orifice & O] B135|7} (45X 0|0{A H2 Strokedf|M O =2 SE E82 UEIH & Q&L CH

KMS SeriesZ= Stroke 25mm 0|3} M|Z0| s =HE| L C} (2t KMS14-20 H|2|)

»

A
Al ---BI Metering Orifice

92104

Stroke =

Shock Absorbere| & MA dit

21 AFEZZ| ol
» 2EHElQ &0l MR E, 3H RSOl gol, FXHO RF &0l §2 MAlstn MB| Z st Atets Heks| Fhuict
» EEE9 A ol SE29| Zc HE W(kg)S FELICH
* ZE 59| 89l : Shock Absorber?] ZEX|M | £k V(m/s)E TLtCt, Cylinder S0l HE ZEE S0} HatsiA|
B2 dP0= Hd S0 2uiE SESEE L
22 EE=9 2 LA M=

Alof| w2t 28 XIS AL Ex = (W xV?) /2

-
X
™

23 FZI9| &9l
= FZH FN)Q 75 &2l A, £X130| U= ZR0= UE AL 9 of & #Zxsto] FEHE FELICH
0|2 7IX|31 A2t Shock AbsorberS 7MA& g},

2.4 Shock AbsorberQ| Stroke 7}A1A
= 7M4E 8 Shock Absorberdi| 2} Stroke(S)E FMI Bt C},

5 FZ of|uAx| 2| A&
» FXo]| 2|5 ol X| EwE FELICH Ew=F xS,

2.6 & oL X| Er 9 AtE 2l Shock Absorber2| MAX
» & Of|{X| ErE& PELCH Er = Ex + Ew



2.7 A2t &4 Energy E1C E &QlgtC}

= ALZ Cycle Z} Energy/Cycle Z5Ef 0f AlZket Energy® T5tm Atese] 9l LHoll QUEX| &oIBtCh EXC > Er xC
2.8 =2 Z7x| (We)Q| ol
571200 Rl O AT WEA| B8 W2 22l 510f T2, 53] 512(03ms 0f3h oAl FEel
ZRoll= Za| gelsto] FHAIR. We = (2 x Er )/ V* [ A2l Wezko| Catalog o| 7|X{ %l ci|0|E{Zt OfHofok & ]
FX0| Q= 2 SEO| HR0= We =W (EEE =2 0| FL|C},

= 2IIH o Z ol of ofd|2t 20| REEM 7t SLE S & JHXIEEtE Shock Absorber7t AH| 2 2= SH X =
Tt F2oLAX| 2| 7772t Shock Absorber2| Ax| 2{x|of w2t 2 xt0|7F L4lsHA ELCt @B2| ZFE Hlwsh 2H
oL FTIHo| 2= B2 HR7t @9 HFECH SHMAX|T} 3587t 2 AS & = AFLICH
OREZIX 2, ©D2] BRUME 2SH|LAX| 2| &2 ZX|2 Shock Absorber2| F& 2|7} EzbElof w2t x| SH0AX =
©OECt D2 Z7t of 48l 0| BIIELICH Wt S2e ST S8 JHX|Cete Z20| w2t #xsiA ga2ixaz 2

HH Al & ol|ufX] E£2F ofL{2t BHEA| S R 14X| 2| i J2qslof Bt

@RI XM glg LPIEL IER-I=Y
S S
H F= H
=W |_ = \\W l
W=50/kg V=2m/s W=50kg V=2m/s Stroke=01m
Ex=100Nm Ew=0 Ex=100Nm Al 2| L] =80mm
Er=100Nm We=50kg otad=5pbar  F=2512N Ew=2512Nm

Er=3512Nm W.=175 6kg

[=]

Op 7 =) DT F2H AF

W=20kg V=2m/s Ek=40Nm W=20kg V=2m/s Stroke=0,1m
Ew=0Nm Et=40Nm We=20kg Vo=125m/s  Ek=40Nm Ew=3136Nm
Er=7136Nm W.=91 34kg




29 AHE 299l Fol
= AHE 2R ol AS A (EEAEREZ :-10 ~ 807T)
= 3 2| A2 0| thel M= 2At| 22lStA|7] Bizt
2107]| E}
» D2 MEES ot w20 WEA StAI2{H AL SH|0|X] www kobapage.comof] T £8tA{ A
| 770l A= Selection of ModelS 22|5tAIH M| & MAol| thEt ZgtS wE2A| ¥ S 5 AFLICH

aE My

M

B

SE0l|LAK|(Ex) A {

'

NO $olanE setel
Er=Ek FILFZIE(F) A E
W=We l

Stroke 7MMA/ ol L K| (Ew)At -«

& BAOIUKIEr) AHE=(Ec+Ew)

'

SLRAX|(We), S5HZ(Fb)
AlZte & of|lLX| (ErCpt=

'

Er, We, Fo,EC 9 ~ NO |
sl&8Hel e




HAE ZA

- o

Ex Nm ={ul[EPN| d mm Alzln 224
Ew Nm & oflL K| (F Rl K]) D mm Azl L
Er Nm =JUEPS g m/s® e i
ErC Nm/h AlZte & oA T Nm EX| EQT
Fs N Shock Absorber £2424 H m =5t=0|

F N ES S w kg == 352
We kg =2 gaix| p bar AlzlC] AL ot
S mm SHA 2| ) rad/s b=

C Cycle/h AlZtd 2315 a ° (degree) HAIZIE

v m/s SELSE Nm/s® ZAMDHE
Ve m/s ERlE = iz iz opg A5

P kW oE =2 a m/s? IS/ ASE

= 1kgf = 9.81N , iINm = 1J , 1MPa = 10bar = 10 2kg/cm’ , 1g = 9.8m/s’




ri'-‘l!}lj“’! } j i,
rrg f

ity '

_.-f:?]ff?ffff'J'l"..fffJ'.ﬁfJ'.i'#.fllﬁf.-'fnf'.ﬂf'.-f#.ﬂ'

p———

Hydraulic Shock Absorbers

2715 49
) 48
At PAHSEA Bx=(WxV)/2
2= ()

T2 RSl Ex=WxgxH

2 of|LAX| (Ew) Bw=Fx3

& ol|%| (Er) Er =B+ Ew

AlZbet B0l R| (EC) EC=ExC
Z[CH Shock Absorber 242 (Fs) Fe=Er/(Sx0.8)

(55 220 2= Eolg 2lsh 22, oHNE Zete A)

I
[l
i
T

F = (3000 x kW) / V

F=00785xD°xP

F=0.0785x (D>-d) x P

RHIZESJ[E=) SEEstA | F=Fl+Wxg)
(F1: szl 2=) EEE MBA F=F1-Wxg)
5| ARSI F=Wxg
TE 7S Udof 012 8 FoWxgx s
(S oA 0.1~02 M 3)

We = (2 x Er) / V?
Ch 5 HN2E2 We=W)

o oo

A SLts) V=+V2xgx H
EEac A JHEETL AUS E2 (of: S Mel) V= % (EF, D=2{2])
ST g2 B2 (ol Rt AzIC], E) v= 2 (@ p=z)
2x 8
HMX|AIZH(t =
|AIZH () 0.8x V

= 1kgf = 9.81N, INm = 1J , 1MPa = 10bar = 10.2kg/cm®, 1g = 9.8m/s’



KOBA Shock Absorbere| 2=

A TE B SRR

» SE3I C=2508/h

Ex = W+ g+ H=1200X 9.8 X0.5= 5880Nm
Model 7VA A : KHA 115 — 150 (Stroke: 150)
Ew=W-g-S8S=1200X 9.8 X0.15= 1765Nm
Er = Ex+Ew =5880 + 1765 = 7645Nm

ErC = Er + C=7645 X250 = 1911250Nm/h

y=\2-g-H = \[2x9.8x0.5 = 3.1m/sec

2-Er 2% 7645
We = = = 1591k
y2 3.1°2 €

Model : KHA 115 — 150

FT=0| giS )

=W

. 2 X 2
Ee= VT 2 S0XLS 56 sNm

2 2
Model 7V : KHA 42-75 (Stroke: 75)

Ew =20
Er = Ex+Ew=562.5+0=562.5Nm

ErC = Er + C = 562.5% 200 = 112500Nm/hr
woo 2B _ 2 ><5622.5 _ 500kg

\% 1.5
Model : KHA 42 =75




"o rmpadly
iy mw.ummﬂ W/{ "
a/;,t/ﬁ//{/(

id ' bbby

Hydraulic Shock Absorbers

!

KOBA Shock Absorbere| 2=

C. THRS(FXIY ALZAI)

= & 25 W=800kg

= ALZQt2 P=bbar
E==0L V=18m/s
S=314= C=2003|/h
2l LA d=80mm

> of% of

wev? _ 800%1.8°
e

F=0.0785 - d*+ P=0.0785% 80> X 5=2512N

=1296Nm

Model 7YA% . KHA 64 —100(Stroke: 100)

Ew=F - §=2512X0.1=251.2Nm
Er= Ex+Ew =1296 +251.2 = 1547.2Nm

ErC= Er . C=1547.2 % 200 = 309440Nm/h
2-Er 2x1547.2
We=—=10 =~ g -9k

Model : KHA 64 — 100 or KHA 85 — 50

0E!
Ho
of
ra
ofn
k1
m
i}
>

k0
>

2 2
WV 1200<1.6
Ex = = = 1536Nm
2 2
F= 3000 - P _ 3000 <1 =1875N
V 1.6

Model 7} 73 : KHA 64 -100(Stroke: 100)

Ew=F - §=1875X 0.1 =187.5Nm
Er = ExtEw = 1536+187.5 = 1723.5Nm

ErC=Er- C=1723.5 X130 =224055Nm/h

We = 2'E2T _ 2><17235
vV

Model: KHA 64 - 100 or KHA 85 — 50

= 1346.5kg




. T 2Z(Driven Roller Free-Flow System)

HARIS 0f2} KRS

= 2F W=50kg
%%—’_E.E V=15m/s
OpEA 5 #=03

n EE3I4 C=10035|/h

%ﬁ—l

Wy 50 % 1.5
Ex = 5 = 5 =56.3Nm

F=W-g-u=50xX98x03=147N

Model 7VA7 : KMA 25 — 25(Stroke: 25)
Ew=F + §=147%0.025=3.7Nm
Er = Ex+Ew =56.3+3.7 = 60Nm

ErC=Er * C= 60 X100 = 6000Nm/h

2.Er 260
. = = — 5350
W y2 1.52 €

Model: KMA 25 - 25

Ltst=0] H=0.3m
» A A} 2} a=05°
ZE314= C=2003]/h

o /7,

Ex= W-g-H=60%x98X03=176.4Nm

F=W-g -sina= 60 X 9.8 X0.42=247N
Model 7YX A :KMA 36 — 50( Stroke: 50)
Ew =F - §=247X0.05= 124Nm

Er = Ex + Ew =176.4 +12.4=188.8Nm
ErC = Et - C = 188.8 X200 =37760Nm/h

p=\2-g-H =/2x9.8%03 =2.4m/s

2:-Er  _ 2x1888 _
We=—""3— =" 5 =656k

Model: KMA36 —50 or KHA 42— 25




"o rmpadly
iy mw.ummﬂ W/{ "
a/;,t/ﬁ//{/(

id 'fn'umnu /

Hydraulic Shock Absorbers

!

KOBA Shock Absorbere| 2=

G. THES(FTH ALE)

n ALE2QtE P Sbar
n S V=1m/s
n S35 C=2505]/h

-

wev:  _ 500x I
2
F=0.0785-d*- p+w- g

Ex = =250 Nm

=0.0785 % 100” % 5+500 xX9.8=8825N
Model 7YX A : KHA 64 —50 (Stroke: 50)
Ew=F - S=8825% 0.05=441.3Nm
Er = Ex+Ew =250 + 441.3=691.3Nm
ErC = Er + C=691.3%X250=172825Nm/h
o <2 'EZ'T _ 2X6913 _ 30650

Vv 1

Model : KHA64 —50

s A2 LHE d=125mm
= AL2QtE P=bbar

n S V=16m/s

» 5Z315 C=2002]/h

weyt _ 100x1.67
2
F=0.0785- d>-P-W-g

Ex = =128 Nm

=0.0785X% 1252>< 5-100X9.8=5152.8 N
Model 7VA A : KHA 42 — 50(Stroke: 50)
Ew =F - §=5152.8 X005=257.6 Nm
Er =ExktEw =128+257.6 =385.6Nm

ErC = Er - C=2385.6 X200 =77120 Nm/h
2-Er 2% 385.6
We = = =301.25k;
V2 1.6 g

Model : KHA42 — 50




| K

Rs

I (BRERE)=W- K> =500%0.82 =320Nm/s>

_r _ 2 — 2 5rad)
w = K - 08 Sradls
I’ 320%2.5°
Ex 2 2
-g-K X 9.8X0.
i W-g _ 500%9.8X08 _ .y
Rs 0.6

Model 7VAA : KHA 85 — 50(Stroke: 50)

Ew =F - §=6533.3 X0.05=326.7Nm

Er =Ex+ Ew =1000+326.7=1326.7Nm
ErC = Er - C=1326.7 X 200 =265340Nm/h

V= Rs* o =06 X25=1.5m/s (23 g2uelA)
o K

We = 2 b;T . 13226'7 = 1179.3kg
v 1.5

Model : KHA 85 — 50

n Al2Ot P=5par
& 2 W=600kg
= 2} —i.*— T w=38rad/s

M
do 1k
a0
CZDUX
"’o
QCD
‘o 3
3

| |
of > > oy ok J

S,
2|
E,_II:-| |x| r=0 6m
==
=

Rs

J(BREAE)= W+ K> =600 X 0.6 =216Nm/s>

2 2
I-o 216%X3.0
=S = =972Nm
Ex 2 2
2 2
o o X X5X
Fe 0.0785 d - P-K _ 0.0785X80%X5X% 0.6 —1884N
Rs 0.8

Model 7}A A : KHA 64 — 50(Stroke: 50)
Ew=F + §=1884X0.05=94.2Nm

Er =Ex+ Ew =972 +94.2=1066.2Nm

ErC= Er - C=1066.2X150=159930Nm/h
V=PRs - w =0.8X3=24m/l (£3LaH94)

. 2X .
we =—2-Er_ 2X10662 7 )4
v 24

Model : KHA 64 — 50




) Wffﬂﬂ#ﬂm’ﬂﬁi#

"_ i hl:f |.|l,|,|

iid .M Wi g

|'.l-'f||||.|'I

Hydraulic Shock Absorbers

KOBA Shock Absorbere| 2=

= = 2k W=50Kg

2t & & w=1 5rad/s
=315 C=1405|/h
MEd K=0.8m
Zt2|X|(Rs) =0.6m

. M

I(@FARAE)=W - K2 =50%0.8%=32Nm/s?
I’ 32X15°

Ex = 2 B 2

Model 7YRA A : KMA 25 — 25(Stroke: 25)

Ew =0

=36Nm

Er =Exk+Ew=36+0=36Nm

E1C = Er - C= 36 X 140 = 5040Nm/h

V=1PRs *w =0.6 X1.5=09m/s (23 FL2IAN)
> X

o - 2oBr . 2X36
V 0.9

Model : KMA 25 — 25

= 88.9kg

L. =™ 25(Torque ZEA|)

W=120kg
T =2 Orad/s
3la= C=1603]/h
H._ci K=0.9m

3 T=130Nm
S $I7'<|(RS) =0.6m

n
7 Hﬂ ok ofy 1N of
JH o

_._HJH1

0

\—

w

-

[(BARHE)=W - K? =120 X 0.92=97.2Nm/s>

2 2
. I'o”  972x20 _ 194N
K 2 — 2 - LalNm
T 130
F= = =
Rs 0.6 217V

Model 7VA A : KMA 36 —50(Stroke: 50)

Ew =F + §=217 X 0.05=10.9Nm

Er =Ex+ Ew =1944+10.9=205.3Nm
ErC = Er + C=205.3X160 = 32848Nm/h

V=Rs +®=06X20=12m/s
2-Er 2X205.3
We = = =285.1k
V2 122 €

Model : KMA 36 — 50 or KHA 42-25




IZI-A-II:H al xol*l.%

. SHOCK ABSORBER

KOBA 2| Shock Absorber= 4ot & 0| At
CHEZH 22 AFEHS mRf5l0] AR O S

1-1 B2 MF0l A =] A=Al #el SHIAIL,

1-2 Shock Absorber 2A|0fl 28 0|t =& S otX| OHAI2.

1-3 Piston Rodof| EZ!0|Lt =& &HX| O A 2. (Shock Absorbere] +S2 °I%H oS ch=EA|ZIL|CH)

1-4 KOBAZQ| Shock Absorber= 3% £11 A| Adjustment Dial0| ‘0’22 =X E|0{ /20, Damping =& 0| ZL+H Set ScrewS
Z0{M Dial2 & 35}0{ Dampingzt0| H5IX| 2| 5101 FAAIL.

1-5 37| Eol| MES SoHF7Lt B{2|X| oRA|2, H|FE LH5 o] Cilo] S =0 o] L3tE 2o 4 U= A-H0| JUELIC

1-6 M E FF F2o ZERH HEfZ AEE FXIeH FHAL. AISHM A28 H=R 717|9 Zk&E 7Kg 4+ UASLICH

FHE 5 ‘E[HEAH x HHER.5) & sl FAIZ| HiEL O

1- 2 Torque Zt2 XIAHM F|Fall FHAIL, otrdt 202 ZU AL AFS=E A 77| md9| 7ts40| ASLHICH

\,
Kl
0x
z

Shock Absorber Q| F & LIALS| 11 Torque Zt2 olefj Q| EE & =5l FA|7| bfzhCt,

LIAtR(Z [M27x1 5
- MES 5 M27x2.0| M30x1.5|M36x1.5|M42x1 5
M25x2.0|M27x3.0

M14x1.0

(mm) M14x1 5

Nut 18

Torque 39 78 78 9.8 147 294 49 588 784 98 392
(Nm)

1-8 Snap Ring % 2| Shock AbsorbergE AlE&t A £35| Z4l5l0] FAA| 2, Catalogo]| JIIHE._I Ab2t 0|ALO| T ESIE Al=E
S Shock Absorber 2] Inner Tubel2| LHF 2t2{0| H|HASE 453l Snap Ring ¥ LHF 2| £E0| FHsIA AHLUZ
Itsdo| AU CH BEA| X|-E AIZS X|Z{FA| 1, Snap Ring 71Z=9| Shock Absorber2| ZtE Aloll= Y2S 7110|
CHX| oA,
1-9 Shock Absorber LHF0]| }:= OilZ 52 Hz|X| opA| 2, A2 9| Jl0] £, HI7|= Ea|Hl wal HZ (A7 FHAIL,




T

seas TETTTERR TN

LR P B i

 *

Hydraulic Shock Absorbers

1-10 HASHE R HAZ | Fol510f FHAIL. &t
9|

| Hot2of w2t 45 X5kt 2o, 717| ool /lelo] ElLCt, Piston Rode| &

2 @=1" 040 B2t=2 SEAIZ A2 Piston Rodo] & H&o| 0} 23
ZAM (@=1° oltl)oll E5E

1-11 Shock Absorber= X|HEl ALZ2EH 2|0 ALEZ5H0]
o|x d Xstof| WE 717|oEef Jelo] Eut. (|
1-12 ZISAEl S Shock Absorber 2|50f| 2t2{0| LlSH= oA 2] AL

="
S8, 77|kt e| JAglo| EULCH (A 2S A d
1-13 =X z

T8 2=

o =
= | o

FAA2. (-10C~ 80°c)SeaI, Accumulatorof| &AstS

FHAR)

}01 -’F—ﬁl/\li 717|mkEol &
HADIE MAL $£H 50| Piston Rodol| £&H 5= i._ﬂoilkl._ AL23IX| 0l A| 2. Packing2| miof 2
2ALE 29| ’igtct)

Shock Absorber= Orifice H&E & = *E‘EEAH Ea 01| r}2} Shock AbsorberQ| X&tadg ¥id, =

BHMA|7|= Z40| Z7Fs¢Etu|ct, ofel a7l th EX QI =XME KM SA 2l KHA Series2| Adjustment Dial2| g olct.
ZHE oIzl Foll= gtEA| ME 1M ZEE Adjustment Dial % XM35H0{ =
KMA & KSA & KHA Series Adjustment Dial
KMA Series KSA Series KHA Series

MIE| &

40

=
=

[m

AO o

SH3IgHOSaV MOOHS

# BRUK AW S2 ALSSIAIH Brt ZRseiLch

2elo| Euch

=2 o
— T

mjo



1-14 Flange 7 4ttH
Flange £|x|1A0| ZL}1 Lock BoltE Z=0{ZF
FlangeE ®|7{5l2{™ Bolt Tt E20{F

™ Ech AFZs7| Mol = 2HE Bolt7} O =X| HEEA]

o4 Lock Sloto]] &240| 76X x| 1™ 0| M&tsHA 0| F0{ X0 Shock AbsorberL}

Beol =

ARZSHIAIL.

é Lock Bolt
Shock Absorber ———»
Lock Slot
A A
A

kS E

1-15 3| 2S0|M AL & uff DAl

azlof|AM{ 2} Z40] Shock AbsorberQ] S4l0M 3| H
He[ot B2 4R0ll= HeIES LA =0 $HS BEA

To=E =q
=2HE)

Y
Shock Absorbere| ZAI 2|2 B=0| BA Al=2s|of & S

45t A} St

$I%E Stroke 2| 10} 0| Al0A] AFBBI0] FAAIL,

. S3l

Urethane Cap2 3|M2S0|M AL25HK| OA|L.

ol = HOt2E AdapterE ALE510] FHAIL.

Shock Absorber
Stroke2| 1OHH0|',§,F9.
7{z2|oljM Mx|

\ae

Side Load Adapter A}= (0d])

bt Atet

2 Haof 2
2-1 #7184

1) otz 2| &= cHalM HI|IHAS MA

2 yE2 2il4a|7} E715528 nZ& Alol=

Oilg &2 2 Ha|H 3

I5t0] FHAI2.

Shock AbsorberE mH|5H0{ FAA| L. EESF Shock Absorberd]| 22l E|0] Q1=

st 20| Euict HfAal e et 87|15t FAIZ| vpgh o,




Wﬂﬂﬂ#ﬂﬂd’ﬂm# .,-ur..-r.nmwu'

Wil Wi ,l, iy i
| I W if | I I "J"rllll.l'|m‘

2) HEAE

= XH|&2 A3t Lock Nute| =& 7 = HEQ —t— At Gl Biso| R 7
= Piston Rod o] &4t 2l B3 2 = Qil9 &+ =2

= AT (Stroke) of] 0| &40] ﬁi'.:II &l = ZtSA| °I 22|o| H#5|

S22 ol 3 0|40| LsHH ofelo| TE 22 TR hY'S Azt FHAIL

Iy #|Z Torquet =&t Nut L} BoltE MEsIH X0 TAAI2
Lock Nut Q]
Cas | EAOIZS Sof mat =24 F IR TISS ZHs0 FUAR
) i Shock Absorbere| 823 o EHA| 2 222
SHA|= oflLd X nl{al¥=13
TtliZ|= AR 7} iCkE Wal5t0] ZAIAL
axo] ZHo| x| ojLlgt ZH Cloldg 0wZozE FHst0] FHUNL
Stroke 01 S0 2/5 Stopperdi| 2fsf SAH0| H& Q|2 StopperE T8 & 54 StrokeZ ZA| 5101 FTHAIL
ZEZ20| 2= dbsto| Piston Rode| A= of 2Lt e r=o0| = :
&= I =3 | Piston Rod2| S4=2} 0f2HT 9 £=20| 2= 2152 Piston Rode]
fgggl %%Z}Euﬂ' Piston R0d9.|o %é!-f:‘;ﬂ} %ilAlazi ZISIA=IA|—C')—
Z2{0| SHUREC O =1 0l&t O|ZL} AUS st oloE s -
o seo o ZE20f 725 7|0|=S MA[Sl0f KSR L2
gﬁ,\_ilﬂ ZE20| 230 Qs 510 ZAIA2
= -
-2 Shock Absorber 24|Z StopperZ AtEst U= Stop Collar F-= 9|5 StopperE M%|510{ FAAI2
xo| 2yt ke Shock AbsorberE LHEE HZESZ W&t AL SHYAI2
: o ' Piston Rod£0]| 0|2 Z 0| BAlz|X| L=
Piston Rod EMo|| 0|SZl0| £t Oil Sealo| T&E|S
L Hojl o|2E 0| /0] Oi | =9t Q| =0l CoverZ Mx|5H0] TAIAIR
3|M 247} 2% Shock Absorbertl| £E5t1 912 Side Load ApaptorZ Mx|5l0] TAA|IR
HE +Ho| Cet Shock Absorbere 33}01 ZAAQ
! _ B Piston Rod50]| 0|2 20| BAtg|X| A=
) Piston Rod EHo|| 0|2Z!0| E2t=|0] Oil Seal 0| TS i
L 9| Qilo| Q|£0]| CoverE AR[sl0] FHAIL
Cat Sl xo| 25}t Sh:)ck Absorb_er; =
ol LHSHESE WA|sMAIR
A
HZ $Ho| Chat Shock AbsorberE Watsto] TAIAIR
ZE20| 2= di5k0| Piston R Al Ajngle . ) i
°== I °- | Piston RodS| S£:524 o141 £=20| 5= 2122 Piston Rodo)
EE?Q £= 2T 7} Piston Rod] ZAIED} UX|A|H ZAIAR
SHSEC ©=1" 0N o2 U
ROUF | aee rimni oo SE20) 473 710|=5 HA[Sfof
EEEOH |_|ool =1 P olc = = EAIA|O
=23)5|x| NSoHR| RS sto] FHAIR
o Shock Absorber £x|E StopperZ Al2s5ta US Stop Collar EE= 2|5 StopperE MX|510] AL
Shock Absorber £
zol 2 I.l-%
TH =S EIgoz THEHIAL
HZ Yol Cet Shock Absorber £ W&ts10] TAIAIR

% Shock Absorbere= Chamber LHF0]| F| 5 Al2E A BtEA| 2A10| 29| & AF23)7| bfziL|Ct,



Hydraulic Shock
Absorbers

4

s
3 N > _,r-"
il l'
ALILILLY




KMA Series

=¥ ElY

dm

SV} &= Al Piston RodZ} Bodyti.E 2] S0{7f1 222 Inner TubeSl 2/Z51< rifaf
&M= GrooveE Eaf AccumulatorZ XZAFEID], 0] ZHA Zof 2E0LXI= HolLix| 2
H3lEjo] 7| SO F LMAEl= BIES AHAIPA Z2l4[80] HELCt F517F HAHE/H,
2= E[Q!E Retumn Spring2f 8/ Z Piston Rod= 229 2l £ £l=of SLC}

DUST SEAL
BUMPER HEAD

ACCUMULATOR

MULTI ORIFICE
PISTON

INNER TUBE

ADJUSTMENT DIAL
HEAD CAP

BUMPER STOPPER

ROD COVER
PISTON ROD

SPRING GUDIE

RETURN SPRING

X|
(<]

Z=8& Shock Absorber= =40 w2t 00 300E7EX| 128 HZ @52 9| oM =H0| 7tsght,

Piston HHA ZII2 7| & HIZECH oK S5 0| 716t 20, Effective Weight2| 2|7} of Hlo{M&U .

Shock Absorber®| BodyE LS 2 M|EEtoZA 241t f2k ofL|2} Bottom Out M| E Z2A S & | ZstiEL Ct

M7t Threaded Body 2 FF7t 0(& #2t otL|2t M&st 2X|n™0| JksEilct £5t ZHF0| E7tsto] A S50 IE BolXIE 2
S22 Hr} ha] shEAIZ 4 JEL

Piston Rodi= £4]0f] Zst X E X 251212, Rod Cover= ZA|ZE MRS T A= S4ME 2AM Seal2 25510 71 £HS HEFHICH
Body EHMA2l= LZ =3 = HaTa(EM)E F4of Zahd,

® Bumper Headi= AE!, AEILAZ! Cap(S4), AE+1E Cap(ZH)S2 2 TAE|0] /o,

S ZU0[L} ALZ EHol| 2| M=45t0] AFZE 4 AFH T

P
o £HS

o QHl:03~50m/s
o XM&E:008~13m/s

o =2TH2(-10~80 ¢

Option -40~120 ¢(E4 22 U Seal)

® ALZA : Robot, Z87|, HZ7|, SA7|A|, RSt MZ4H|, EF0|o] M| Z=4H|, FZ=4H|,
|5

391, HHER| S L™l A CHEE 2 AFZE| D AFHCH



=

R = s

i

KMA Series Ordering Information

=

KMA 14 - 12

BN

LV - SC

T ( Accessory Series )

215 B2FE

LV : M8

2715 HIED(SY)
N: 2H3INi ==

27| : Bumper Head Q1
S: 28 &=

B : A2+ZHCap(Z4Y)

G : AE+Q1ZCap(=2H)

ot KMA1091 42

27|35 Bumper HeadQi &
B: SA XY

Stroke

Body Thread Size

KM: Series

AZHH

Accessory Series Charts

SC : Stop Collar

RF : Rectangular Flange
SL : Side Load Adaptor
CM : Clamp Mount

Accessories

KMA 10-07

Side Load Adapter

Stop Collar Rectangular Flange
L

Clamp Mount

CM

KMA 12-14

KMA 14-12

KMA 16-12

KMA 20-16

KMA 25-25

KMA 27-25

-40

KMA 30-35

KMA33-25

-50

KMA 36-25

P R

-50

H
_



KMA 10 - 07(B)

Engineering Data

Max_.Energy Max Energy
Stroke / Cycle /Hour
mm) (Nm) (Nm/h)
Er ErC

Effective

. Recoil Force
Weight Weight
(N)
()
21

24 54

KMA10-07(B 55 15,000 1-123
(unit : mm)
< 71 >
< 64 i< 7 64
PRAEN 495 j Stroke:7 Stroke?

8.6

L M10x1.0

SW:8.8

Accessory (unit : mm)

;‘
V‘

8.6

‘4

Stop Collar Side Load Adapter Lock Nut Clamp Mount
20
12 412—5Tﬂ 13 Bolt:M4
O,
o
IS
¥
MI1OX10 M10x1.0 M10x1 0 M10x1.0 Lk‘%o
SC10 SL1007 LN10 CM10
Seof o2 Cho|gd M=
3 N
% 25 AN
= 2
8 15
E 1 \
05 —
0
0 2 4 6 8 10 12

Dial Number



KMA 12 - 14(B)

Engineering Data

Max Energy Max Energy Effective

Recoil Force

Stroke / Cycle /Hour Weight | Weight
L (Nm) (N (ko) & ©
: e
KMA12-14(B) 14 215 35,000 4-477 3.7 96 33
(unit : mm)

. 94 N
_ 84 .10 84
10 60 " Stoke:td | Stroke:14 |

<+
= l

¢10.7
2105

T Steel Head+Hard PU Button
M12x1.0 (B Type: Black)

-

Steel Head Steel Head+Soft PU Button

SW:10.5

. S Type (G Type : Green)
Accessory (unit : mm) (S Type)
Stop Collar Side Load Adapter Lock Nut Clamp Mount
20
13 225 14 14 Bolt:M5

DECNUE <1

m.

©

IS

95
_v M12x1.0
M12x1.0 M12x1.0 M12x1.0
SC12 SL1214 LN12 CM12

EXof mE ol Mz

35 —
3 N
g 25 AN
= 2
g 15 -
g 1 \\
05 —
0
0 p) 4 6 8 10 12

Dial Number




KMA 14 - 12(B)
Engineering Data

Max Energy Max Energy Effective S
Stroke i ecoil Force :
mm) / Cycle /Hour Weight ) Weight
(Nm) (Nm/h) (kg)
Er ErC

KMA14-12(B 1.5-494
215 45000 36 98 55
-1 2(B)LV 25 4-1,650
- 100.5 N (unit : mm)
- 905 PN 905
< 18 L 655 _ Stroke:12 Stroke:12

0.54

$12

s

Steel Head+Hard PU Button
(B Type: Black)

M14x1.5

Steel Head Steel Head+Soft PU Button

Accessory (unit : mm) (5 Type) (G Type : Green)
Stop Collar Side Load Adapter Lock Nut Clamp Mount
27
14 195 12 19 Bolt:M5
DI Hk—»rﬂ T—T 20

¥
M14x15 M14x1.5 Mi4xd 5 M14x1.5 %712

SC14 SL1412 LN14 CM14

o wE Clo|E HS

5 \\

Velocity, m/s

2 \\

0 2 4 6 8 10 12
Dial Number



KMA 16 - 12(B)

Engineering Data

Max Energy Max Energy Effective

S(:::T']()e / Cycle /Hour Weight Reco(l:\ll):orce Weight
S (Nm) (Nm/h) (kg)
Ex ErC
KMA16-12(B) 2-527
—_——— 12 27 51,000 —_—— 49 14 80
-12(B)LV 31.9-3,375
- 100 N (unit : mm)
- 875 <12,5= 875
125 63 N §troke12 Stroke: 12
‘ 5 o
A
i o
S s
_ v
T Steel Head+Hard PU Button
M16x1 5 (B Type: Black)

Steel Head Steel Head+Soft PU Button

. (S Type) (G Type : Green)
Accessory (unit : mm) P
Stop Collar Side Load Adapter Lock Nut Clamp Mount
27
19 208 12 19 Bolt:M6

12 ‘ 19, ‘ - s y

2 6 22

IS

MiBx15 M16x1 5 . M16x15 %716
SC16 SL1612 LN16 CM16

Eof wE Clo|Y HS

5 \\

Velocity, m/s
wW

\

0 2 4 6 10 12
Dial Number




KMA 20 - 16(B)

Engineering Data

Max Energy Max Energy Effective

S(::r)rll()e / Cycle /Hour Weight Reco(l:\ll):orce Weight
S (Nm) (Nm/h) (Kg) ©@
e« | e |
KMA20-16(B) 45-1,230
T 16 61 63,000 S 8 196 145
-16(B)LV 72.1-5,600
1 (unit : mm)
. 100.5 185 1005 .
135 71 | Stroke:16 Stroke:16
< < > ‘4—»

Steel Head+Hard PU Button
(B Type: Black)

-

Steel Head Steel Head+Soft PU Button
(S Type) (G Type : Green)

SW:18 M20x1.5

Accessory (unit : mm)

Stop Collar Side Load Adapter Lock Nut Clamp Mount

36
E—>—T 20 34 16 24
15 ‘ Hk—T_W
- I
(aV)
¢12

M20x1 5 2

Bolt:M6

M20x1 ,5 M20x1 -5 M20x1 5

SC20 SL2016 LN20 CM20

S0 E Clo|g Mz

TN

Velocity, m/s
wW

2 \

0 2 4 6 8 10 12
Dial Number



KMA 25 - 25(B)

Engineering Data

Max Energy Max Energy Effective

Stroke / Cycle /Hour Weight Reco(i'I\ll):orce Weight
mm
L (Nm) (N (ko) ©
2 we
KMA25-25(B) 8.3-2,150
e 25 177 113,000 BTN 102 295 285
-25(B)LV 209.4-15,750
3 1435 - (unit : mm)
- 127 165 127
> > .
19 Q0 Stroke:25 Stroke:25
DL =? > ‘<—>
r 8 -
e =
N IS
Steel Head+Hard PU button
SW:23 t M25x1 5 (B Type: Black)
| | I
Steel Head  Steel Head+Soft PU Button
(S Type) (G Type : Green)
Accessory (unit : mm)
Stop Collar Side Load Adapter Lock Nut Clamp Mount
42
20 42 25 32 Boit:M6
: 18 ‘ k—ﬂ r—" 32
= 8 32
IS
v 216 . 4
M25x1 5 M25x1.5 M25x1 5 M25x1 5 %725
SC25F SL2525F LN25F CM25F
S0 e Cho|Y ¥
6
5 \
) NG
=
S
> 3
‘©
o 5 —
(0]
>
\\
0
0 2 4 6 8 10 12

Dial Number




KMA 27 Series

Engineering Data

Max Energy Max Energy Effective :
Stroke / Cycle /Hour Weight Reco(l:\ll):orce Weight
mm
: (Nm) (Nm/h) (ko) )
Er ErC We Ext

KMA27-25(B 8.3-2,150
i) 25 177 113,000 10.2 295 305
-25(F)(B)LV 209.4-15,750
-40(B) 20-5,120
T ey 40 283 149,000 334925200 10 31 429
- A _ (unit : mm)
_ B 16.5 B
< e >
12 C _ . Stroke Stroke

r %8 .
m j
[V}
IS8
Steel Head+Hard PU Button
B Type: Black
SW:25 L vead (B Typ )
Steel Head Steel Head+Soft PU Button
(S Type) (G Type : Green)
Dimensions (unit : mm) S0 e Clo|d HS
6
THREAD -n-
KMA27-25(B) °
25EILY M27x3.0 . \\
25 1435 127 90 -
~25F(B) M27x1.5 =
-25F(B)LV - z 3
-40(B) 3 2
0@y 40 M27x20 1945 178 126 = 1 \\
T
0 \
0 2 4 6 8 10 12
Dial Number
Accessory (unit : mm)
Stop Collar Side Load Adapter Lock Nut Clamp Mount

42

: > 20 42 25 32
18 ’<_> T—W 35

Bolt:M6

#315

Threadi Thread Thread
SC27/SC27F SL2725/SL2725F LN27/LN27F CM27/CM27F




KMA 30 - 35(B)

Engineering Data

Max Energy Max Energy Effective

Recoil Force

Stroke / Cycle /Hour Weight Weight
L (Nm) (N (ko)
Er ErC We
KMAB30-35(B) 35 356 137,000 25-6,950 178 503 610
(unit : mm)
- 2085 >
< 1795 i 24 1795
16, 1285 i Stroke:35 Stroke:35
-« >l r—»

r 210

228
?28

Steel Head+Hard PU aton
M30x1.5 (B Type: Black)

-5 =

Steel Head Steel Head+Soft PU Button

SW:28

: (S Type) (G Type : Green)
Accessory (unit : mm)
Stop Collar Side Load Adapter Lock Nut Clamp Mount
b Bolt:M6

ET" 25 ‘ 57 35 < 36 N -

|Yo]
[<2]
IS

M30x15 M30x1.5 M30x1 5
SC30 SL3035 LN30

Eof wE Clo|Y HS

5 \\

Velocity, m/s
wW

0 2 4 6 8 10 12
Dial Number




KMA 33 Series

Engineering Data

Max Energy Max Energy Effective

S(::::)e / Cycle /Hour Weight Reco(i:\ll):orce Weight
(Nm) (Nm/h) (kg) ©)
_ KMA33-25(8) - 256980
%0 _ 50-14,000
S0BLV 50 628 150,000 o 136 653 580
A (unit : mm)
< B 24 B
<16 c __ Stroke T Stoke
SW:30 |

rmo

?28

Steel Head+Hard PU Button I

) ) . M33X1 (B Type: Black)
Dimensions (unit : mm) 39X1.5

-M--ﬂ- |

KMA33-25(B)

T 25LVB) 10 *
B g 229 205 139

-50LV(B)
Steel Head Steel Head+Soft PU Button
(S Type) (G Type : Green)
Accessory (unit : mm)
Stop Collar Side Load Adapter Lock Nut Clamp Mount
62 47 25 46 Bolt:M6
) ) 42
8 40
M33x15 M33x1.5 Yol Ma3x1.5 L\A
SC33 SL3325 ~ LN33 CM33

S0 wE Clo|¥ HS

Rectangular FIange

6
5 \
%] 4 Ny
0 5
> 3
4-07 ©
3 2
[0]
>
Lock Slot \
RF33 0
0 2 4 6 8 10 12

Dial Number



KMA 36 Series
Engineering Data

Max Energy Max Energy Effective

S(::::)e / Cycle /Hour Weight Recoil Force Weight
5 (Nm) (Nm/h) (ko)
Er ErC
KMA36-25(B) 25-6,980
s 25 346 125000 25 56.2 725
-25(B)LV ’ 97-60,930 ’
-50(B) 50-14,000
7—50(B)LV 50 692 160,000 T 192-120312 20,312 225 60 885
A (unit : mm)
P B .24 B
< > ,
16 . C oo Stroke | Stroke
SW:34 ‘
r 210 A
& K
= S\
Steel Head+Hard PU Button
M36X1 5 (B Type: Black)

Dimensions (unit : mm)

KMA36-25(B)
— osve 2 170 146 105

-50(B)
- -50LV(B) 50 a2l R Steel Head  Steel Head+Soft PU Button
(S Type) (G Type : Green)

Accessory (unit : mm)

Stop Collar Side Load Adapter Lock Nut Clamp Mount
T % 22 47 25 46 Bolt:M6
] T—W 45
2 i 42
[S8
K3 20 ¥
M36x1 5 M36x1.5 Ma6xd 5 M36x1.5 L61\4725
SC36 SL3625 LN36 CM36

S0 wE ol Mz

Rectangular Flange

51

41 5
T " \\
10 24
£
45| 29 t07 z 8
(o]
o 2
Yy >
M36x15 Lock Slot T
0
RF36 0 2 4 6 8 10 12

Dial Number




KMA/KMS Accessories Z|5gHH

NAME HlZ

Lock Nut
Stop CollarE AIZ2gto 2N M Etst

Stop Collar X 4 x| MH0| 0|5t Pistond]|
+ Lock Nut 2HH | = Bottom Out # 4t HEX|A|7

Ella)

sH2 S0 ALggo=M
Shock Absorbere| E417{2| & F50|
BH A2 2 Shock Absorber

Piston Rod 9| o2 &AM HEX|A|H

ELl=

Side Load Adapter
+ Lock Nut

Rectangular FlangeE 0|23t
Haz|5}AH Shock AbsorberS

oy g 5 AFHH

Flange Mount

Clamp Mount= =2 $Hoof|
A2 E|0f Shock Absorber Z10]7} Z wf
AtSstH Falgtct,

Clamp Mount




est Energy Absorption

p—
-
] ..

KMSZ= Slot Metering TypeC.2 Bi|7} ZEA|, BXIXOZ £22{2 ZH4A|7]
FEEH BXIAIZILCE 21 Z mZof Hlaf ojLix] S7&2k0] 200% 0/4
B s on Sea Ao B2 Y AIZH ET0fL1X] 5t Bofe &L,

| ' X7 | ERE el

DUST SEAL

BUMPER HEAD

ACCUMULATOR
PISTON

HEAD CAP

BUMPER STOPPER

STEEL BALL ROD COVER

RETURN SPRING PISTON ROD

E x|

-1 o

® Piston SHEI%{0| 742 7|E MZoll bl oLz B4 20| 2382 S7t5t91m, Oizke] S7h2 Alzbet ofiLix| et S7}5191 204 Effective
Weight©] 917} HO1R& L

@ Shock Absorber2| BodyZ 2302 M&teto2M 248t #at ofL|z} Bottom Out 24|12 22X 0 2 s AsIASLICH

® H#|7} Threaded BodyZ #|%7} 0|5t H&lst 2Ix|DH0| 7HsEiLch ot ZHE0| Sol6to] ZHES WE Lol|LXIE 2/F 2 2ol
i) ahEA|Z 4= QlEL L

e Piston Rod= 4]0l 25t A E HE31%1 20, Rod Cover= EA|ZH AL T AC|= EFME RN SealS BSotH 71 82 2&a L

Body EMx2|= LA 2 & SSESEM)S 2 FAlo| 2o

Bumper Headi= AE!, AELZE Cap(SA), AS+AIE Cap(EM)S o2 FME RIoH, SE Z7A0|Lt ARR Sl SHA| MEiStod

ALEE 4= lELICL

&R 03-50m/s

29| 10-80 ©

Option  -40~120 ¢(E4 22 U Seal)

ALZX| : Robot, ZH7|, BZ7|, SE7|H|, A-SX} ®M|IZ=AH|, EF0[o] MIZ=AH|, FZ=AMH|, Fai|Ql , oHHER| S ArdT ol ZAX

Cl2E 2 0|85 /3 UFLICH

KMS Series




Ly 'Jl !

"

0
8
@
1)
1)
2
¥

ré, _;'.fﬂff-;‘.wmar'.m'nr,.f.an.r'.am'.am.w'

KMS Series Ordering Information

KMS 10 - 08 B N -2 - SC
—_— —— T_ ( Accessory Series )

SC : Stop Collar
Effective Weight : 1,2,3 (£7| EA[1)

- _ RF : Rectangular Flange
2715 : HFESEN) orarTEng

N : 2™&l{Ni E2 CM : Clamp Mount

27| : Bump Head Qi
S:AEGE

B : AE+ZZCap(EAH)

G : AE4+O1ZEICap(54H)
ok KMS08,KMS109! 2
27|35 : Bump Headgig
B : S|

Stroke

Body Thread Size

KM: Series
SAP | =M

Accessory Series Charts

Accessories Stop Collar Rectangular Flange Clamp Mount
:

|

KMS 08-06
KMS 10-08
KMS 12-10
KMS 14-15
-20
KMS 20-20
-30
-50
KMS 25-25
-40
-50
-80
KMS 36-25
-50
-80

...............II




¢ |(

.-n'nli{lé_ - _l
i f

KMS 08 - 06(B)

Engineering Data

Effective :
Weight Recoil Force

Max Energy [ Max Energy
Stroke / Cycle /Hour
(mm) (Nm) (Nm/h)

A ----

(N) Weight
)

KMS08-06(B) 6 8,000 0828 25123 10-111 10
(unit : mm)
47 T 47
< > >
6 ol 35 ‘gtroke 6 Stroke:6

268
?6.8

L M8X1.0

Accessory (unit : mm)

Stop Collar Lock Nut Clamp Mount

20

EL—Trﬁ

Bolt:M4
16

14

‘ 2115

__¥

M8x1.0 M8x1.0 Mex1.0 W»\m

SCO08 LNO8 CM08




KMS Series

.Il|-'Il|l | |'|I||l I||'|I|.h

m o B

KMS 10 - 08(B)

Engineering Data

i

TR

Max Energy | Max.Energy Effective :
SUCLC / Cycle /Hour Weight Recoil Force Weight
(msm) (Nm) (Nm/h) N @
KMS10-08(B) 8 11 14,500 1.8-6.1 55-27 22-244 25 155
(unit : mm)
- 64.5
_ 575 A 575
75 42 Stroke: 8= :

\ A
A

8

SW:8

Accessory (unit : mm)

! .

©.
0
S}

L M10X1.0

Stop Collar

20

SRR

#3128

M10x1.0

SC10

Lock Nut Clamp Mount

3 Bolt:M4

=
¥

10
M10X1 0 M10x1 ,0L25\4\

LN10 CM10




"“"”'{.{_ - _l
tl(

filik-¢

KMS 12 - 10(B)
Engineering Data

Max Energy [ Max Energy Effective :

Stroke Weight Recoil Force :
Weight

) ka) o )

S
KMS12-10(B) 10 18 34,000 29-10 9-44 36-400 3.7 96 23
(unit : mm)
80.5 _
- 705 .10 70.5

6.5 < 54 j@trokeﬂé) Stroke:10

210

2105

Steel Head+Hard PU Button
SW:10 b M12X1 0 (B Type: Black)

Steel Head  Steel Head+Soft PU Button

(S Type) (G Type : Green)
Accessory (unit : mm)
Stop Collar Lock Nut Clamp Mount
20
Bolt:M5
ET" rﬁ o

16

M12x1.0 M12x1.0 M12x1 .0%
SC12

LN12 CM12

3138
~

~_ 12

4




KMS Series

.ll' | |'|I||l I||'|I|h

mﬂmf#ﬁﬂmﬂm i ] |

WL

KMS 14 Series
Engineering Data

Max Energy [ Max Energy Effective S
: ecoil Force
sm«e Weight Weight
(kg) )

KMS14-15(B
34 51,000 5-18 17-84 68-755 38 133 43
—15F(B)
(unit : mm)
- 100.5 .
» 90.5 o 10, 90.5
> > >

85 . 69 pStroke:15 | Stroke:15

.

A

#2105

#2118

KMS14-15(B):M14x1.5 Steel Head+Hard PU Button
SW:12 KMS14-15F(B):M14x1.0 (B Type: Black)

Steel Head  Steel Head+Soft PU Button

(S Type) (G Type : Green)
Accessory (unit : mm)
Stop Collar Lock Nut Glamp Mount
2 Bolt:M5

19
12 | “ > 20

218

Thread Thread

SC14/SC14F LN14/LN14F CM14/CM14F




¢ |(

"“"”'{.{_ - _l
i f

KMS 20-20(B)

Engineering Data

Max Energy [ Max Energy Effective S
: ecoil Force
Stroke Weight Weight
(mm)
S
KMS20-20(B) 20 105 55,000 13-39 36-210 173-2,333 872 23 140
(unit : mm)
- 1185 -
- 105 _._185_ 105
B = >
8, < 77 _ . Stroke:20 _| Stroke:20
- =i~ Vi‘ |

617

Steel Head+Hard PU Button

SW:17 M20X1.5 (B Type: Black)

Steel Head Steel Head+Soft PU Button
(S Type) (G Type : Green)
Accessory (unit : mm)
Stop Collar Lock Nut Clamp Mount
36
24 Bolt:M6
15 | : > 28

@24

_¥

M20x1 5 M20x1 5 M20x1.5 % —20

SC20 LN20 CM20




KMS Series

iy, ( _
ettt B ol

KMS 25 Series
Engineering Data

Max Energy [ Max Energy Effective

Stroke Weight Reco(ill\ll):orce Weight

(Kg) (@)

(mm)
S

KMS25-25(B)

e 2 226 69,000 28-85  78-452 373-5022 11 29 265
(unit : mm)
- 1415 .
- 125 185 125
:9>‘ 91 . Stroke:25 ;‘ - T Stoke25

?22

t KMS25-25(B):M25x2.0 Steel Head+Hard PU Button

SW:22 KMS25-25F(B):M25x1 .5 (B Type: Black)

Steel Head Steel Head+Soft PU Button
(S Type) (G Type : Green)
Accessory (unit : mm)
Stop Collar Lock Nut Clamp Mount
42 Bolt:M6

18 | r—wz

#315

¥
Thread Thread Thread % \25

SC25/SC25F LN25/LN25F CM25/CM25F




KMS 36 - 25(B)
Engineering Data

Max Energy [ Max Energy Effective ST
: ecoil Force
S:::](e Weight ) Weight
(kg) (@)
--_-

KMS36-25(B 490 115,000 61-185 170-500 435-10,888 64.3 758
(unit : mm)
B 172 _
P 148 L 24‘ 148
< > > >
14 109 E Stroke: 25 Stroke:25
¢ =‘< ‘ o EE—

»
L]

r(ZﬂO

34

_Vv
Steel Head+Hard PU Button
SW:34 M36X1 5 (B Type: Black)

Steel Head  Steel Head+Soft PU Button

(S Type) (G Type : Green)
Accessory (unit : mm)
Stop Collar Lock Nut Clamp Mount Rectangular Flange
62 Bolt:M6 o
EAA—T ﬁ 45 i
r
10
42 45
el 1° 4-07
IS
M36x1 5 ?g ¥
M36x15 " %T M36x1 5 Lock Slot

SC36



KMS Series

Wﬂﬂﬂ#ﬂﬂd’ﬂm# .,-ur..-r.nmwu'

J I" l'l’:: i
| |' | |'|I|I TS "J"rllll.l'|m‘

m KMS LONG STROKE TYPE
KMS 14 - 20(B) Engineering Data

Max.Energy | Max Energy Effective N
: ecoil Force
mm (N)
(@)
----

KMS14-20(B 13 45,500 2-7 6532 26288 36 139 71
(unit : mm)
> 1215 N
B 1115 _ 10 1115
< >l—> .
10, 815 _  Stroke:20 Stroke:20
< V“ rr > ‘<—>
r o4

@10_5‘

t Steel Head+Hard PU Button
M14x1.0 (B Type: Black)

— —

Steel Head  Steel Head+Soft PU Button

SW:125

(S Type) (G Type : Green)
Accessory (unit : mm)
Stop Collar Lock Nut Clamp Mount
27 19 Bolt:M5
T—T 20

5 20

M14x1 0 M14x1.0 %

SC14F LN14F CM14F

¥

12




L

(S
LTS

AN AN

KMS 20 Series
Engineering Data

Max Energy [ Max Energy Effective

Weight Recoil Force Weight
(N)
)
----
KMS20-30(B) 30 52 31,100 85-28 26-128 104-1,155 16.8 188
-50(B) 50 82 37,800 13-45 41-202 164-1,822 7_8 16.6 268.6
(unit : mm)
- A .
- B o) B
P C p D _._.  Stroke Stroke
F r 06 ‘

218
>

L M20X1.5

SW:18

% 9| 372 KMS 20-50(B) L ch.

—

5

<
| B |

13

B

Steel Head+Hard PU Button
(B Type: Black)

—

_ _ _ Steel Head Steel Head+Soft PU Button
Dimensions (unit : mm) (S Type) (G Type : Green)
--ﬂ-lﬂ
-30B) 30 1445 131 11
-50B) 50 2275 214 725 915
Accessory (unit : mm)
Stop Collar Lock Nut Clamp Mount
36
Bolt:M6
15 24
N
IS8
M20x1 5 M20x1 5
SC20 LN20 CM20




KMS Series

Wﬂﬂﬂ#ﬂﬂ#ﬂﬁ##

Nirwi hl:f |.|l,|,|
' IR

iid .M Wi g

KMS 25 Series
Engineering Data

Max Energy [ Max Energy Effective :
Recoil Force

Sis. 0 Weight ) Weight

L (ko) ©
KMS25-40(B) 40 110 94,000 18-60 55-271  220-2,444 137 309 3425
-50(B) 50 120 41,000 19-66 60-296  240-2,666 139 305 4575
-80(B) 80 160 54,200 26-88 80-395 320-3555 149 298 5775

(unit : mm)
A -
- B 185 B
C L D ., Stroke _ Stroke

r¢8

M25x2 .0
SW:23

Dimensions (unit : mm)

=

|

Steel Head+Hard PU Button
(B Type: Black)

=

Steel Head Steel Head+Soft PU Button
e s sl x 13 Lo 1o S G
KMS25-40(B) 40 M25x20 1745 158 106
-50(B) 50 M25x20 2345 218 66 102
-80(B) 80 M25x20 3285 312 90 142
Accessory (unit : mm)
Stop Collar Lock Nut Clamp Mount
42
Bolt:M6
18 ‘ T—WBZ
®
IS
M25x2.0 M25x2 o
SC25 LN25 CM25




-4

"'”ﬂ-é .
¢ |(

KMS 36 Series

Engineering Data

Max Energy [ Max Energy Effective :
Stroke Weight Recoil Force Weight
(mm) (kg) b (gs)}J
S
KMS36-50(B) 50 220 162,000 35-121 110-543  440-4,888 244 446 994
-80(B) 80 340 232,800 55-188 170-839  680-7,555 254 456 1,280
A (unit : mm)
B a2t B
‘C“4 D >i= Stroke Stroke

P

r(ZS‘IO —

? 34

<
[l

Steel Head+Hard PU Button
(B Type: Black)

M36x1.5

Dimensions (unit : mm)

ECHEITNENENER Steel Hoad  Stesl HoadSoft PU Button

KMS36-50(B) 221 197 11 136 (S Type) (G Type : Green)
-80(B) 80 352 328 11 237

Accessory (unit : mm)

Stop Collar Lock Nut Clamp Mount Rectangular Flange
62 .
'y Y
10
45

3 * 29 4-07
IS

=2

M36x1.5 M36x1.5 MBx1.5 %7‘ M36x1.5 Lock Slot
SC36 ' " LN36 CM36 RF36




KSA Series

=¥ ElY

EA7} = Al Piston RodZ} BodyLZ2 2l2{ £0{7f13, 222 Inner TubeS| 2/ZF0{=
2} A El GrooveE 3l Ol ChamberZ 0/SgH/Ct 0] BlE =0l 2E0|L{AI=
olLAX| 2 HEEo] Cf7| ZOF LAME[E BIEE2 X[PA] ZH4(20] BHYEILIC)
B517F HAHEH, et=EE(%E Retun Spring 2] 8/9.2 Piston Rod=

2elo| /A2 £/=of St

DUST SEAL BUMPER HEAD

ACCUMULATOR
PISTON ROD SEAL

MULTI ORIFICE

URETHANE CAP

(OPTION])
PISTON ROD RETURN SPRING
ROD COVER
BUMPER STOPPER
INNER TUBE
Adjustment Dial (Rear) Adjustment Dial (Front)

dm
bl

ESE5E0] w2} 00f|A 300=7HK| 12712 Hel= 253 o|H| ZF0| 7k
8 - 5| Adjustment Dial {22 Ciekst Mx|&HZoM Z=FH0| 0|t

iz

Shock Absorber2| BodyE LM 22 MEEto 24 748t 20 ofL|2} Bottom Out EHIE 22X O 2 s 25t} SLCt.
M7} Threaded BodyZ 57t 0|5t &St x| n™0| JtsEiCh =5t EHF0| Z7t6t0] A S50 IE HolHXIE 2|F2 2ot
ko) dh=A 2 4 S L

Piston Rod= ZZ 3222 %|2|£|0] 9/2M, Rod Cover= ZA|ZE ARSI HC|= E4AE ZM SealS E551H 71 1S BAksH |},
Body EHA2|= UZ £3 = SaTa(EM)oE f4 Zahd

Urethane Cap 2 Al26tH A2 ZAAIZ = AFHCH

& (03-50m/s

242 -10~80 ©

option -40 ~120 ¢(E 2 U Seal),

AL : Robot, Z&7|, Z|Z7|, SE7|A|, XISAt M Z=AH|, E0[0] M| Z=AH|, FXAMH|, Zai|Ql, QFHZER| S AtdFuto]| ZX

CHEZZ 0|23 YEL L




KSA Series Ordering Information

KSA 45 - 50 N - SC
—_ —_ —_ T { Accessory Series )

SC : Stop Collar

— UC : Urethane Cap

12 AEEaEY) __ SF : Square Flange
N: B2HsINi =2

Stroke

— RF : Retangular Flange
— LC : Lock Collar

Body Thread Size

___ RC : Rod Clevis

KS: Series

AZHE ___ EC : End Clevis

L CM : Clamp Mount

Accessory Series Charts

ACCEssories Urethane Square | Rectangular Lock Stop Rod End Clevis Clamp
Cap Flange Flange Collar Collar Clevis Mount

m -

KSA 45 Series ° °

KSA 64 Series ) ° ° ° ° ° ° °

KSA 85 Series ° ° ° ° ° ° °

n
8

o
"
g
0
Y




KSA 45 Series
Engineering Data

Max Energy [ Max Energy

Stroke Effective Weight

Recoil Force

(mm) (N) Weight
S (kg)
KSA45-25 25 650 195,000 497 82.8 113
-50 50 1,300 260,000 456 84 13
-75 75 2,000 300,000 443 86.3 152
(unit : mm)
B » ‘ Stroke 115

M45X1 5P

Dimensions (unit : mm)

\ 4
4

Cma e e e e ]
KSA45-25 25 1595 93 30
-50 50 2205 129
-75 75 2925 168.5

EXof wE clo|g Mz

4
A

»

214

(VNN

Urethane Cap

<%

5 \
4 N

Velocity, m/s
w

2 \

0 2 4 6 8 10 12
Dial Number



Accessory (unit : mm)

Clevis Mount P A .
2 Lock Coll
OC ollar
%13 f 210
/Y
ol A ooA
O [V} er ()
S S) \ 4 S
\ 4
End Clevis Rod Clevis
Clamp Mount

B(Min/Max) C(Min/Max)

Dimensions (unit : mm)

m KSA45-25 KSA45-50 KSA45-75
A 210 271 343

B(Min/Max) 25/68 25/104 25/143 5
C(Min/Max) 79.5/1005 104/1435 129/170.75
Lock Collar Stop Collar Square Flange Clamp Mount Rectangular Flange
%58 060 60 Bolt:M8x65L 76
| o
4
56
595 6041 409
| -
25
M45x1.5 ock Slot
M45x1 5 - M45x1.5 M45x1 5 ” M45x1.5 Lock Slot

LC45 SC45 SF45 CM45 RF45

KSA Series




KSA 64 Series
Engineering Data

Max Energy [ Max Energy

Effective Weight Recoil Force
(kg) (N)
We
KSA64-25 25 1,250 152,000 92-24,400 61.8 110 29
-50 50 2,500 248,000 185-48,800 60.8 1332 33
-75 75 3,750 265,000 277-73,240 614 1483 38
-100 100 5,000 360,000 370-97,650 594 160.1 4
-125 125 6,250 413,000 462-122,000 571 1604 7.7
-150 150 7,500 450,000 555-146,480 51 166.8 89

sz
om
i
0
i
Im

Dimensions (unit : mm)

M64X2.0P

KSA64-25 176 975
-50 50 239 1355 38
-75 75 309 1735 45
-100 100 375 2145 45
-125 125 452 2565 55

-150 150 5185 2945 585

S0 e ool M

" 155

J
=

58

‘4
<

A 17

@62

Urethane Cap

5 \\

Velocity, m/s
w

2 \

0 2 4 6 8 10 12
Dial Number



Accessory (unit : mm)

Clevis Mount < A -
19 Lock Collar 34_5>
2 ' 219
/Y i
¥ Wi /'y
< g * o 3
= S v s
o I Y
\d —
End Clevis Rod Clevis
Clamp Mount
B(Min/Max) C(Min/Max)

Dimensions (unit : mm)

m KSAB4-25 KSAB4-50 KSAB4-75 KSAB64-100 KSABG4-125 KSABG4-150
A 244 307 377 442 520 -

B(Min/Max) 25/72 5 25/110.5 25/148 5 25/189.5 25/2315 25/269.5
C(Min/Max) 92.5/116.25 117 5/160.25 149 5/211.25 174 5/256.75 209.5/312.75 238/360.25

Lock Collar Stop Collar Square Flange Clamp Mount Rectangular Flange

85

%80 090 78 Bolt:M10x85L 115

M64x2.0
M64x2.0 ' M64x2.0 M64x2.0 Lock Slot

LC64 SCe64 SF64 CMe4 RF64

KSA Series




KSA 85 Series

Engineering Data

Max Energy | Max Energy : : :
Stroke / Cycle /Hour Effective Weight Recoil Force
(mm) (Nm) (Nm/h) (kg) ()
- Er E:C We
KSA85-25 25 2,000 330,000 148-39,600 132 2458 122
-50 50 4,000 462,000 296-78,100 1316 2717 14 4
-75 75 6,000 680,000 444-117,200 130 3251 17
-100 100 8,000 825,000 591-156,300 1254 3277 20
-125 125 10,000 859,000 740-195,300 126.6 3433 236
-150 150 12,000 901,000 930-220,300 126.6 386.7 28
A
- . C __ Stroke =‘15.5
NE 1y 2E -

Dimensions (unit : mm)

M85X2.0P

KSA85-25 1895 109 y
-50 50 251 1455 40
-75 75 3145 180 44 %
-100 100 3845 217 52
-125 125 4525 256 56 Y
-150 150 5135 292 56 Urethane Cap
Srof mE Clo|d s
6
5
o 4 \‘
1S
> 3
S 2
[0
>
—~—
0
0 2 6 8

Dial Number



Accessory (unit : mm)

KSA Series

Clevis Mount

2
>

219

?98
? 38

A
A

End Clevis
Clamp Mount

B(Min/Max)

Dimensions (unit : mm)

A >
Lock Collar
»ﬁ 219

A

! N

N~

IS
. {

Rod Clevis

C(Min/Max)

m KSA85-25 KSA85-50 KSA85-75 KSA85-100 KSA85-125 KSA85-150
A 256 316 381 451 519 -

B(Min/Max) 25/79 25/114 25/150 25/187 25/226 25/262
C(Min/Max) 95.5/120 120.5/162 5 149/209 5 182.5/261 211.5/309.5 236.5/352.5
Lock Collar Stop Collar Square Flange Clamp Mount
2110 Eﬁ»‘ 0104 Bolt:M14x110L

M86x2.0

M85x2.0

LC85 SC85

115

100

Lock Slot

) .

M85x2.0
SF85 CM85

M86x2.0



KSA Accessories F| gt

NAME

Lock Collar

J|2=0l F R wHo 2
Lock Collar £ 0| &35}0{ ZH=tsHA|

F& g 5 AFHC

Stop Collar

+ Lock Collar

Stop Collar & Al2&toZM
Hest HX| Y 2|z MA0| 0[5t
Piston 0f| 2+l £|= Bottom-out

HYS WXAA FLCh

Flange Mount

Square Flange L} Rectangular
FlangeE 0|25t H2|5tA|
Shock AbsorberS T™A|Z 4

AFH

Clamp Mount

Clamp Mount= F2 $£HMH|
A2 E|0{ Shock Absorber Z10|7}

Z ol ALZstH Fal|gc.

Clevis Mount

T2 3™ 2l AR50
ClevisE 0|25} ZIMH SR
BHETE otaAt 2 off AASELCH
Shock Absorberg £MsIEo 2

FE 235 & 5 ASH




o 17, \ s b KHA Series

=Y ElY

S5} = Al Piston RodZf Bodyi.Z 2ef S0{7} 13, 222 Inner Tubegf Out TubeS/ OrificeE
&5l Body LEZE S0{=2 Piston Rod 9| #/Z& B+F AccumulatorE X ZFE/L[LC}. 0] 2tE Zoff
2ELIXE ZoLX 2 H3IEI0] 7] ZOF MAIEE BIEE AHAITA] ZH4/E0] BHYE/LICH
B5iof (A ElE, 2k E[9IE] Return Spring 2l /.9 2 Piston Rod= 29| 8%/ 2 £l=of ZLC}

—y

BUMPER HEAD

ADJUSTMENT DIAL DUST SEAL

ROD SEAL
OUT TUBE

MULTI ORIFICE

INNER TUBE

RETURN SPRING
PISTON ROD

ROD COVER

PISTON

ACCUMULATOR

|
S

Jm

Adjustment Dial2 £} 00f|A 1802 3|M | SESTO| WE AE2 HRIE XAF20| ZHE 4 USLICH
Body= LIAMSZ E[0] RI0] EHE S S7IAI7| 1 SHEST ME BoX|E 2/F 2 2ot W] BHEA|I7|H FFA| 2IX|Z=F0] 7+s3t0
HE s 2|xIn™o| 0| o
Piston Rod = A& IE2EZ2X2|£[0] 9/20, Rod Cover= BA|ZE AFE2510{E HLC|= E4AE 2 M Sealg £330 71 £HE HASH|C],
Shock Absorber Bumper Headdl| Urethane Cap S A2 SEA| A28 ZAAAZ £ JUEL L
Body EHAE|= UALF £= Bara(EM)o 2 f4o Zach
Special At FEH|Z: EEED CFE LIAK AHIQIIA, X2 Y 1R S SMof| %A F& M Jtsgo
LS
.28 03-35m/s
« HSE(LY):008-13m/s
o 29| -10-80 ¢
e Opton -40~120 ¢(E4 2 U Seal HE),
® AMZX{: Robot, ZE|, ZZ7|, S&7|A|, XISAL M|IZ=AH|, Elo|o] MZ=AH|, FxMu|, T2l , AHEX| &
AAFof| ZX CIE2E 2 0|2 5|3 &L CH




0
2
c
1))
7))
-
I
"4

KHA Series Ordering Information

KHA 42 - 50 N LV- SC
T TT T { Accessory Series )

SC : Stop Collar

— UC : Urethane Cap

_ __ SF: Square FI
27|35 EEAE(03-35m/s) quiare Flange

LV : X% 5(0.08~1.3m/s) — RF : Retangular Flange
_?_7|§ . ;!_I::ILEE_(EA_;’) — LC : Lock Collar
N: FHNi E5 | RC : Rod Clevis
Stroke — EC : End Clevis
Body Thread Size — CM:: Clamp Mount
KH: Series
AZXEY

Accessory Series Charts

AcCessories Urethane Rectangular Lock Stop Rod End
Cap Flange Callar Callar Clevis Clevis

KHA 42 Series ° ° ) ° ° ° ° °
KHA 64 Series ° ° ° ° ° ° ° °
KHA 85 Series ° ° ° ° ° ° °

KHA115 Series ° ° ° ° ° ° °




KHA 42 Series
Engineering Data

Max Energy | Max Energy

Stroke / Cycle /Hour Effective Weight Recoil Force
(msm) (Nm) (Nm/h) (kg) (N)
Er ErC We
KHA42-25 36-3,600
—_——— 25 250 125,000 28 56 125
-25LV 295-52,000
-50 45-6,150
50 500 166,000 38 86 14
-50LV 591-104,000
-75 54-9,500
75 750 200,000 32 88 16
-75LV 887-156,000
A (unit : mm)
B | Stroke

»|

SW:50

A

Dimensions (unit : mm)

| Mool | st | A | B | C | D |
KHA42-25 25 145 95 28 27
-50 50 195 120 40 40
-75 75 245 145 52 53
Urethane Cap
Adjustment Dial S0 e Clo|d HS
4
ég @ 35—
>g 8 3
A 2
> 225 N
o - N
17 z 2
8 ERE \\
2 5 ~
3 ® ~
72} 05 T ~—
0
0 1 2 3 4 5 6 7 8

Dial Number




0
2
c
1))
7))
-
I
"4

Accessory (unit : mm)

Clevis Mount

%13 22

Lock Collar

End Clevis

Clamp Mount

Dimensions (unit : mm)

A 200 250 300

B(Min/Max) 65/70 65/95 65/120
C(Min/Max) 62 5/64.5 875/102 5 117.6/1455
Lock Collar Stop Collar Square Flange Clamp Mount Rectangular Flange

258

o060 Bolt:M8x65L
60

M42x1 5
M42x1.5 M42x1 5P

LC42 Sc42 SF42



KHA 64 Series
Engineering Data

Max Energy [ Max Energy

Stroke Effective Weight Recoil Force
(mm) (ka) (N)
S
We
KHAB4-50 82-12,600
T 50 1,300 270,000 65 148 37
-50LV 4,062 5-277,500
-100 115-17,000
100 2,600 360,000 45 157 45
-100LV 8,125-555,000
-150 140-22,000
150 3,900 420,000 47 199 53
-150LV 12,187.5-832,500
(unit : mm)
P Stroke
A
[e0}
Te)
1SS
v
M64X2 .0
Dimensions (unit : mm)
A
m--ﬂ-ﬂ 3
©
IS8
KHAG4-50
-100 100 327 190 75 75 v
-150 150 455 240 100 100
Urethane Cap
Adjustment Dial S0 wE cho|d HS
4
ég % 35—
>U o 3
L 2 s
> g = N
] : N\
[72] P
8 ERE \\
2 s ~
Z = ~—
72} 05 T ~—
0
0 1 2 3 4 5 6 7 8

Dial Number




KHA Series

Accessory (unit : mm)

Clevis Mount
219
219
A - . i
i) s,
v Fazn v
End Clevis Rod Clevis

Clamp Mount
C(Min/Max)

il

Dimensions (unit : mm)

“ KHAB4-50 KHAG4-100 KHAG4-150
A 305 409 534

B (Min/Max) 65/115 65/165 65/215
C (Min/Max) 97 5/122 5 147 5/197 5 1975/272 5
Lock Collar Stop Collar Square Flange Clamp Mount Rectangular Flange

280 BOIT M10x85L

M64x2.0 M64x2.0 Lock Slot

LC64 SCo64 SF64 CMe4 RF64




KHA 85 Series
Engineering Data

Max Energy | Max Energy : . :
Stroke / Cycle /Hour Effective Weight Recoil Force Weight
(mSm) (Nm) (Nm/h) (ka) (N) (ka)
Er ErC We Ext,
KHA85-50 50 2,300 370,000 200-37,000 148 315 6.4
-90 90 4,000 650,000 230-40,000 121 365 76
-125 125 5,700 930,000 300-43,000 114 365 8.6
-165 165 7,300 1,210,000 360-45,000 98 429 98
(unit : mm)
< A »|
B Stroke -

»|

SW:90

|

Dimensions (unit : mm)

AT I R T
50 245 140 42 48

KHA85-50
-90 90 325 180 60 70
-125 125 400 216 82 84
-165 165 494 256 106 100

Adjustment Dial

VHM
73aon

SH3gHOSaVv XOOHS

o wE co|E

M85X2.0

Urethane Cap

Velocity, m/s

N w
w O s

(SR I S

o

k=3
'\
N
L
\\
\\
0 1 2 3 4 5 6 7

Dial Number




KHA Series

Accessory (unit:mm)

Clevis Mount
< A >
019 27 34
7 :
s © ' F Y
32 Lock Collar
End Clevis Rod Clevis
Clamp Mount

B(Min/Max) C(Min/Max)

Dimensions (unit : mm)

m KHA85-50 KHA85-90 KHA85-125 KHA85-165
A 325 405 480 575

B (Min / Max) 80/110 80/150 80/186 80/226
C (Min / Max) 120/138 160/200 195/249 220/290
Lock Collar Stop Collar Square Flange Clamp Mount

0104

95
2110 E—J—“S ‘

115 Bolt:M14x110L

100

M85x2 .0

M85x2.0 Lock Slot

) .

M85x2.0 M85x2.0

LC85 SC85 SF85 CM85




KHA 115 Series
Engineering Data

Max Energy [ Max Energy

Stroke Effective Weight Recoil Force
(mm) (kg) (N)
= We
KHA115-50 50 3,700 1,501,000 370-44,000 187 427 16
-100 100 7,400 1,805,000 370-57,000 178 482 19
-150 150 11,100 2,100,000 370-89,000 185 538 21
-200 200 14,800 2,405,000 390-118,000 185 665 31
-250 250 18,500 2,710,000 440-145,000 184 649 34
) A - (unit : mm)
B Stroke
M115X2.0
Dimensions (unit : mm) 3
«©
| Mol | st | A | B | C | D | E_ -
KHA115-50 50 314 200 75 50 75 ©
-100 100 414 250 100 50 100
-150 150 514 300 125 50 125 \ &
-200 200 644 350 150 50 150 Urethane Cap
-250 250 744 410 180 60 170
Adjustment Dial Srof e Clo|d HE
4
é g % 35—
> (w] o 3
e 225
> g = N
o - NG
17 z 2
8 ERE \\
@ T N
m > \\
a 05 T ~—
0
0 1 2 3 4 5 6 7 8

Dial Number




KHA Series

Accessory (unit : mm)

Clevis Mount

26

?
A
N |
& v ims |
Yy
Lock Collar
End Clevis Rod Clevis

Clamp Mount

-

Dimensions (unit : mm)

m KHA115-50 KHA115-100 KHA115-150 KHA115-200 KHA115-250
A 430 535 635 760 865

B(Min/Max) C(Min/Max)

B Min/Max 80/170 80/220 80/270 80/320 80/370
C Min/Max 129/174 179/249 229/324 279/399 329/479
Lock Collar Stop Collar Square Flange Clamp Mount
130

%150 Eﬂd—" 0140 150 Bolt:M16x150L

135

‘ »138
©
>

M115x2.0

M115x2.0 Lock Slot

) -

M115x2.0 M1156x2.0
LC115 SC115 SF115 CM115



KHA Accessories |5 bt

NAME

Lock Collar

Hlz

J|2=x{o| & viHo 2 | ock CollarE
0|25t0] ZteHsIA |5 & 5

AgH T

Stop Collar

+ Lock Collar

Stop Collar & A2 &2 M H&tst
HX| ¥ /x| MH0| olstn
Piston0]| 2l £|= Bottoming S1AtS

LRIAIA Fct,

Flange Mount

Square Flange L} Rectangular FlangeS
0|23t Ha|stA| Shock AbsorberES

TFAZ = AFHCH

Clamp Mount

Clamp Mount= F2 $HMo|
M-EE|0 Shock Absorber Z10|7} 2! uH

ALEsHH Falgct,

Clevis Mount

F2 3|1 23Al0| AFZE|{ ClevisE
0|835t0f ZIHX o2 ZAHESE Stakl
skl AF2EL|C}, Shock AbsorberE &

M SEo=HE 255 & 4+ AELICH




Air Qil Tank &
Check Valve

est Energy Absorption

Series

Shock Absorber £7|2} Air Oil Tankoj| B 2SS 21Z/511 Air Oil Tank LI/20j| AirZ Z3F5f0f
ALZEILICE Air Oil TankE A28 ZA1 Shock Absorber L0l BHEEl= SX =] P HIf

BN OF HIEGFOE AIZIE AIERITE ZIIA[7[ 1 Shock Absorber T3S 91ZIA[7 /04,
Retum Spring0[ EL2&g¢ 71 Shock Absorber A2t & £ 9] Kjo{7} Ft& (L}

G (Arr Port)\‘ / AirPlug
n Al2QH 13~ 7 bar (S LH2] 10bar),
n AlI22F :(-10~800).
= Al : 0-L AlO|0f| Qilg 2 &5t0{0F AL EH-ICH,
n FOALE
1. Air/Oil Tank & Shock Absorber 2 C} =2 20f| A x|5l o} g},
2. 2FH| &xX| R A= 37| & #iLl Fo{of ot
. 3. Air/Oil Tank HZA| LHF| L= =42 Check ValveE E5104
F (Ol Port) 21242 wiuh 0| eistoiof ghic,

D

B L C

4-H

»
L

<
I

Dimension (unit : mm)

N N A N R

KHO63-100 286 PT3/4  PT3/8 15 KHA42, KHA64 Series
KHO100-150 398 135 153 30 93 PT3/4  PT3/8 15 KHA85, KHA115 Series
Check Valve

Check Valve= Shock Absorber 8} Air Oil Tankd] S5 S st izt Mo siF= a2 sliEL ct

B
KC 1/4 PT 1/4 r—j
KC 3/8 35 24 PT 3/8 l ' r
- <

KC 1/2 40 40 PT 1/2 k
2-C

KC 3/4 60 48 PT 3/4 A




Application

0
0

<

@
(1)}

o
=
>
X

3]

o
<
(8]
(7]
~

@
-
-
=
<

27} 20| WH5|2S 012318 J1GE Oil 2 Tanke BUiX| D Wzt

0il2 Shock Absorber L ZRE| Z2E(0] A|ZHe ofL{X| 222 S5}

A7 g
Z WiE0| 7 E2 3| 20|H AlZHE ol X[ = STt

Shock Absorber ZH=0| 2F2 E|T4 Piston Rod= | AENZ A E5HA|

S=

Shock Absorber of| Air ValveZ 0|2stH S =&0| 7tsgt o},




KHG Series

Hydraulic Buffer

0/& 5= S} Bumper Head 0ff S=351A £/7 Li{F2ofl .= Check Valve = EF5[AH| [T

Oil Chamber & 2t=35fH| E/L/Ct. &F=El Oil 2 Multjple Orifice £ E3}01 Orifice bar LHEE

=0 E0{7}0A SZE E5/L/CL. 5£5F Piston Rod Z} Oil Chamber L2Z XI2/5151A1 442/
Piston Rod A& BtF9] Oil 22 Chamber Piston £ 2/0{ 221 Gas Chamber £ £}=(Accumulator
J|1&5E +8l)510{ Gas Chamber Lif29[ 2F210] Z7}5/0{ Oil 2 Gas 7} SA[0fl Stroke & 21|
gr SFE STEILICH FFETIf ZL7 2I5E Gas Chamber &= Oil Chamber Z2 Z /0]
JtiX|AH| £/ 2 Piston off Ax/=l Check Valve = ZE2[H| £/0{ Piston Rod £ 2/l AelZ2

STHAIH ELICF

BUMPER HEAD
CHAMBER PISTON l

PISTON

ORIFICE BAR
MULTI ORIFICE

GAS CHAMBER

PISTON ROD
FRONT MOUNT

OIL CHAMBER

x|
o

Aim

KHG Series= cHEZ MIZSZ 30|ofl H|s =2 ETHILUXIE EFAI7 0|24 2| ESA| R Nitrogen Gas2| 45 2Z0| 0| F0{M HE2
X B0l ZXo| ZAHS ZHE HERQILICH SEA| LHF 0| HX[El0] 2l Multiple Orifice = FEAIL] 2TZUHE 5 Al7|0, MMM 712 OSHA,
AISE, CMMA, DIN, FEMSS| EZE20f| £5t0{ 44t S8t UASH L,

£ FINEPIE S

A% : Oil + Nitrogen Gas

A% : EXE (-10~80C), Special (-30~100%)

Return B4| : Nitrogen Gas

Piston Rod : Hard Chrome( 25un 0|4})

Body 2! Mount : Epoxy Paint Coatings

AREA : ZAH[0|L] Z2|Ql, RS = 2|1, AH|F Z2i|Ql, ERMAEHTL £017| 7, B, HEMH|S




HlLiX| &2 H|w

(O] (O] (]
13) o 1 o
o o (o)
L L [T
2 =
H =40luix)
Stroke Stroke Stroke K EHo]| L K|
Rubber Damping Spring Damping Hydraulic Buffer
1. Low damping 1. Low damping 1. Maximum damping
2. High spring 2. High spring 2. Low gas spring
KHG Series Ordering Information
Mount Type
e l Accessory Series
KHG 120 - 200 - RS - B C
S -- -T- - C: Cable — RS : Rear Flange Mount
UC : Urethane Cap
L — FS : Front Flange Mount
B : Bellows
: — SS : Front and Rear Flange Mount
RC : Rod Clevis
Stroke — EC : End Clevis
Body Dia

— RF : Rear Flange Front Foot Mount

. FAI
KHG : Gas Retun 24 “— FF : Front and Rear Foot Mount

Accessory

Special Order

Bellows Cover

=
k

'\

Front & Rear Safety Cable

m Temperature : -30~100c

'- m Special Coatings
h = Body Chrome Plating
e —

m Stainless Steel

Special Head
Clevis Mounting m Special Hea

Rear Mount + Front Foot Mount




28 M AN 3

1,78 MY

o5
Ex kd 2E0|L4X| (Kinetic Energy)

Ew kdJ 210]|L{X| (Work Energy)
Er kd Z0i|L4X| (Total Energy)

ErC kd/h Azt E0i| L] X| (Total Energy Absorbed Per Hour)
Fs KN 21=7| F|ci E248 (Maximum Buffer Force)
\Y m/s ZE £ (Impact Velocity)
Ve m/s AlH| £ (Effective Velocity)
S m 2t=7| ™ 2| (Buffer Stroke)

So m/s? 2+ (Deceleration)
C Cycle/h AlZtel &= 31 (Cycle Per Hour)
H m L+5l=0| (Drop Height)
p bar At} (Operation Pressure)
P kW D E{=2 (Motor Power)
g m/s%9.8m/s?) Z3{JI& & (Accelleration)
n - F& (Min, Efficiency)

= 1kgf = 981N, 1Nm = 1J , 1MPa = 10bar = 10 2kg/cm®

2. =234
w- v?
Ee=—— E,C=FE; - C E;=E.+Ey,

V=0.6m/s
W=80 ton

a)

Moving Weight

, 19 = 9.8m/s’

R
508 SD:Q-

V2

< >
Fx§ 25, 08

By = Fy =

] 2
Ep= %: SOX%: 14.4kT 1 KHGS85-150
_ 74 A
E,=E, ol
v KE Lia Stroke : 150
— 7 — —
Fs = 508" 0isxos 12OV
Vy=0
V? 0.6
Sp= = =1.5m/s?
2-5-08 2x0.15%0. .
5’2 08 X00_§2X0 8 HAz4A KHG85-150
=S, 08 2xLax0g  L1Em=150mm




Moving Weight Example Buffer Model
b) V =1.2m/s
W=200 ton v i KHG140-300
P =20kW e R 7k A .
25 P 25%20 Stroke : 300
-V Ty T T
Ey=F §=41.7x0.3=12.5k]
a Ep= B+ Eyp=144+12.5 = 156.5k]
_ Br 1565 _
By =508~ 0axos OHN HZH4 KHG140-300
9] V =18m/s
W=150 ton B=00 W V05 W0y, 5, KHG130-400
. 7144
T KE Stroke : 400
V= T o.fxllg.s =379-69 kN
a b V= %/: %= 0.9m/s
VB 09t ) 92l A
=95 08 2x0ax0s N2 HEAA KHG130-400
d) V,=1.0m/s
W,=180 ton po W, (V; + sz)_180><250(0.1+0.6)2_133 o5k KHG120-500
V.,=0.6m/s T a(m+w,)  2(180+250) 7 A
2 E,=Ej Stroke : 500
W,=250 ton Er  133.95
Fy = T 08" 05x08 " 334-88kN
- \2 Vy=V,+ V,=1.0+0.6=1.6m/s
Vi 1.62 }
- 5= 575 08" Tx05%08 2 HEANA KHG120-500
e) V,=1m/s ( .
_ W RV +TVL)7 220x260(1+0.7)° _
W,=220 ton Be= W) o0+ 20) — 86kT A7 KHG120-250
V,=0.7m/s Bp=Ey Stroke : 250
Wom260t0n Ik, S-Ef)s o 2§6x0 g ~A3049kN
A « \2 - Vl;er: 1+20.7:0.85m/s
a
6 Vi o8 1.806m/s’ A=A KHG120-250
D2 8-08 2x0.25%08
f) W=2.5 ton
H=0.4m Be=g - W+ H=981x25x04=9.81k/ 7447 KHG85-150
Ey=W:- g - §=25x9.81x0.15=3.67kJ Stroke : 150
Ep= B+ By =9.81+3.67=13.48k]
V=12 g  H=+/2x981x0.4=2.8m/s
E, .
=g 7(;.8 - 0411'?:?].8 = 11233kN
g4 KHG85-150




KHG 65 Series
Engineering Data

Max.Energy Max.Energy Max Buffer Recoil Max Side
/ Cycle /Hour Force Force Load Angle
(kJ) (kJ/h) (kN) (kN) (°)
Er ErC Fs | Ext | Comp | RType | FType |
KHG65-25 25 2 100 100 3.2 3.5 3.5 6
-50 50 4 200 100 4.7 3.5 3.5 7
-75 75 6 300 100 53 3 3 8
-100 100 8 400 100 1.0 6.6 3 3 9
-125 125 10 500 100 6.6 2.5 2.5 10
-150 150 12 600 100 6.6 2 2 1
-200 200 16 800 100 9.0 2 2 12
15 Stroke _ 26
Rear Mount T

Front Mount

Dimensions (unit : mm)

Rear Type Front Type

BT
S A B | __C_ |

KHG65-25 25 262 250 126

-50 50 312 300 151

-75 75 372 360 176

-100 100 432 420 231

-125 125 497 485 256

-150 150 552 540 281

-200 200 682 670 371

14

Mounting
Bolt Size




KHG 85 Series
Engineering Data

Max.Energy | Max.Energy | Max Buffer Recoil Max Side

/ Cycle /Hour Force Force Load Angle Weight

(kJ) (kJ/h) (kN (kN) (°) )

KHG85-50 50 8 600 200 10 4 35 12
100 100 16 1,200 200 13 3 3 15

-150 150 24 1,800 200 1.5 17 2 2 18

-200 200 32 2,400 200 19 1.8 1.5 20

-250 250 40 2,850 200 20 1.5 1.2 22

Rear Mount

Front Mount

Dimensions (unit : mm)

Stroke (mm) Rear Type Front Type Mounting
323

KHG85-50 310 183
-100 100 463 450 242
-150 150 603 590 305 16
-200 200 743 730 367

-250 250 883 870 430




KHG 100 Series
Engineering Data

Max.Energy Max.Energy Max Buffer Recoil Max Side
Model /Cycle /Hour Force Force Load Angle
(kJ) (kJ/h) (kN) (kN) )
Er EtC Fs
KHG100-50 50 1 750 280 16 5 4 17
-80 80 18 1,200 280 16 4.5 4 20
-100 100 23 1,600 280 16 5 4 25
-120 120 27 1,800 280 20 4.5 3.8 27
-150 150 34 2,300 280 20 4.5 3.5 28
-200 200 46 3,100 280 24 20 4 3 34
-250 250 58 3,600 280 ' 25 3.5 2.5 39
-300 300 69 4,200 280 25 3 2 43
-400 400 90 5,400 280 25 2.5 2 49
-500 500 110 6,600 275 25 2.5 2 59
-600 600 125 7,200 260 25 2 1.5 62
-800 800 140 7,900 210 25 2 1.5 73
Rear Mount *2‘5[* Stroke 32

Front Mount

Dimensions (unit : mm)

Stroke 32

Stroke (mm)
S
50

KHG100-50 332 312 175
-80 80 423 403 215
-100 100 450 430 252
-120 120 529 509 270
-150 150 580 560 315
-200 200 720 700 377
-250 250 865 845 440
-300 300 1,010 990 502
-400 400 1,349 1,329 645
-500 500 = 1,616 890
-600 600 - 1,888 1,010
-800 800 = 2,426 1,345

Rear Type Front Type Mounting
A | B8 [ ¢ | Busie




KHG 120 Series
Engineering Data

Max.Energy Max.Energy Max Buffer

/ Cycle /Hour Force

HOGEL i (kJ/h) (kN
ErC Fs

KHG120-100 100 45 2,900 570
-150 150 70 4,400 570

-200 200 92 5,800 570

-250 250 114 7,200 570

-300 300 130 8,500 450

-400 400 160 10,000 450

-500 500 180 11,500 450

-600 600 200 12,800 450

-800 800 240 13,600 375
-1000 1,000 280 14,500 350

Recoil
Force
(kN)

Max Side
Load Angle Weight

(©) (kg)
38 4 4.5 41
38 4 B85 48
38 3.5 3.5 58
40 3 3 65
40 3 2.5 72
40 2.5 2 78
40 2 1.5 86
40 2 1.5 95
40 2 1.3 112
40 2 1.3 118

Rear Mount

Front Mount

Dimensions (unit : mm)

Model Stroke (mm) Rear Type Front Type Mounting
= A/ B8 | _C_ |  BoliSe

KHG120-100 100 470 450 277
-150 150 610 590 340

-200 200 760 740 402

-250 250 900 880 465

-300 300 1,050 1,030 527

-400 400 1,340 1,320 680

-500 500 1,620 1,600 815

-600 600 1,920 1,900 950

-800 800 - 2,400 1,290

-1000 1,000 = 2,960 1,360

24




KHG 130 Series
Engineering Data

Max.Energy Max.Energy Max Buffer Recoil Max Side
/ Cycle /Hour Force Force Load Angle
(kJ) (kJ/h) (kN) (kN) (°)
Er ErC Fs | Ext | Comp | RType | FType |
KHG130-250 250 120 8,200 550 40 4.5 4 85
-300 300 140 9,600 550 40 4.5 4 92
-400 400 180 12,000 550 L5 50 4 3.5 106
-500 500 220 15,000 550 ' 50 589 385 118
-600 600 260 17,800 550 50 2 1.5 127
-800 800 300 19,000 460 50 2 1.5 148

>

Stroke 32

Rear Mount >

S

Front Mount

Dimensions (unit : mm)

e | S Mountig
e e i
KHG130-250 877 545

-300 300 1,029 1,009 605
-400 400 1,293 1,273 735
-500 500 1,602 1,582 820 2
-600 600 - 1,917 1,060

-800 800 = 2,445 1,350




KHG 140 Series
Engineering Data

Max.Energy Max.Energy Max Buffer Recoil Max Side
Model / Cycle /Hour Force Force Load Angle
(kJ) (kJ/h) (kN) (kN) ()
EiC Fs

KHG 140-100 100 62 3,800 760 38 4.5 4 60
-150 150 91 5,800 760 65 4.5 4 72

-200 200 124 9,800 730 70 4 3.5 85

-300 300 175 12,000 730 70 819 2.5 110

-400 400 234 15,000 730 5.5 78 2.5 1.5 135

-500 500 270 17,000 680 78 2 1.3 150

-600 600 300 20,000 630 78 2 1.3 160

-800 800 325 25,000 510 78 2 1.3 185
-1000 1,000 360 27,500 450 78 1.6 1.2 200

>

Stroke = 38

Rear Mount >

Iy

Front Mount

Dimensions (unit : mm)

Model Stroke (mm) Rear Type Front Type Mounting
= A/ B8 | _C_ |  BoltSe

KHG140-100 100 480 460 297
-150 150 620 600 360
-200 200 770 750 422
-300 300 1,060 1,040 547
-400 400 1,350 1,330 712 24
-500 500 1,630 1,610 847
-600 600 1,930 1,910 982
-800 800 2,350 2,330 1,252

-1000 1,000 - 2,880 1,595




KHG 150 Series
Engineering Data

Max.Energy Max.Energy Max Buffer Recoil Max Side
Model /Cycle /Hour Force Force Load Angle
(kJ) (kJ/h) (kN) (kN) ()

En Gl =
KHG150-100 100 70 4,000 880 45 4 4.5 77
-200 200 136 7,200 850 75 4 38 90
-300 300 183 13,000 770 75 3.5 3.5 135
-400 400 243 13,500 760 6. 75 3 3 146
-500 500 285 17,400 710 85 3 2.5 166
-600 600 323 21,000 670 85 2.5 2 176
-800 800 367 25,600 580 85 2 1.5 220
-1000 1,000 410 28,000 510 85 2 1.5 253

>

Stroke = 38

Rear Mount >

Iy

Front Mount

Dimensions (unit : mm)

Model Stroke (mm) Rear Type Front Type Mounting
. A | B | __C_ |  BoltSie
100

KHG150-100 510 490 327
-200 200 800 780 452
-300 300 1,090 1,070 577
-400 400 1,280 1,260 740 2%
-500 500 1,660 1,640 800
-600 600 1,960 1,940 905
-800 800 2,360 2,340 1,270

-1000 1,000 2,910 2,890 1,625




KHG 180 Series
Engineering Data

Model

Max.Energy

/Cycle

Max.Energy
/Hour

Max Buffer
Force

Recoil
Force

Load Angle

(kJ) (kJ/h) (kN) (kN)

Er EC Fs
KHG 180-100 100 80 4,500 980 75 45 4 110
-200 200 160 10,000 980 80 45 4 126
-250 250 200 12,800 980 80 45 4 140
-400 400 280 14,500 880 90 45 4 168
-500 500 350 18,000 880 100 4 3.5 198
-600 600 430 23,000 890 100 3.5 3 235
-800 800 570 27,000 890 100 3 25 295
-1000 1,000 720 29,000 890 110 25 2 360

Rear Mount *AL([J* Stroke 42

Front Mount

Dimensions (unit : mm)
N e e
KHG180-100 100 491 471 350

-200 200 760 740 450

-250 250 850 830 550

-400 400 1,486 1,466 804 0

-500 500 1,766 1,746 939

-600 600 2,066 2,046 1,074

-800 800 2,666 2,646 1,344

-1000 1,000 3,226 3,206 1,614




KHS Series

Hydraulic Buffer

=
=

KHS Series= 0/ &5= &7 Bumper Head 0| ZZ51H4 £/ L9/ PistonS 0/ 2504
Multi Orifice 2 Oil0] MR LEI}BA] EE0)LHXIE S5l HZL/L/C
£ ptEE Piston Rod= 2J42.9] Retumn Springoy] s I &2 2751H &L CH

DUST SEAL BUMPER HEAD

PISTON

MULTI ORIFICE ROD SEAL

PISTON ROD

RETURN SPRING
ROD COVER

ACCUMULATOR
INNER TUBE

g

KHS Seriesi= &2 Buffer2 ALZAI| AR T Z240]| et ZH 9| OrificeE MAM|Z IR 2 =2 #ERSS A8sln 2lo0,
HIAKE i HH2AS 2 PoHs AMEkI0] T3t 0|, Ao T2 OSHA, AISE, CMMA, DIN, FEMSS| EZHZ0]

- —-Tco

M 2F5m QlEL o,

ZHEAA AP =HY

A2gA : Oil

ARk : EEZ (-10~80%), Special (-30~100C)

Return 2+4| : Coil Return Spring

Piston Rod : Hard Chrome( 25un 0|4}

Body 2! Mount : Epoxy Paint Coatings

ALZX - ZiH[0| Zallel, 23| = F3j|Ql, AH|IFH F3Ql, EMATF} S0|7| 7, Hx, MEMH| AHERS



KHS Series Ordering Information

Mount Type
1 Accessories
KHS 130 - 1560 - RS - B C
— —_ —_ —_ — RS : Rear Flange Mount
-|_ C : Cable
— FS : Front Flange Mount
B : Bellows
— SS : Front and Rear Flange Mount
RC : Rod Clevis
Stroke — EC : End Clevis
Body Dia — RF : Rear Flange Front Foot Mount
. Qpri N
KHS : Spring Return &4 — FF : Front and Rear Foot Mount
Accessory

Bellows Cover

Clevis Mounting

UL
i

o

Ll
AL

T

Front & Rear Safety Cable

Front Mount

Special Order

= Temperature : -30~100c
m Special Coatings

m Stainless Steel

= Body Chrome Plating




KHS 64, 90, 100 Series
Engineering Data

R I el s L
(kJ) (kJ/n) (kN) (kN)
ErC Fs -
KHS 64-50 50 0.5 10 12.5 6.5 14.8 3 3
KHS 90-50 50 4 80 100 14.2 30.5 3 8.5
75 75 6 108 100 10.5 19 3 95
-100 100 8 128 100 9.9 42 3 12
KHS 100-50 50 A 79 110 14.2 30.5 3 14
-100 100 8.8 140 110 9.9 42 3 17

Dimensions (unit : mm)

2C
20 12 90 65

KHS64 - 50 50 200 b4 56 4-911
KHS90 - 50 50 240 90 78 30 16 130 100 4-2 14
-75 75 280 90 78 30 16 130 100 4-214

-100 100 360 90 78 30 16 130 100 4-2 14
KHS100 - 50 50 240 100 84 30 16 130 100 4-2 14

-100 100 340 100 84 30 16 130 100 4-9 14




KHS 130, 170, 190 Series
Engineering Data

Max.Energy Max.Energy Max Buffer Recoil

/ Cycle /Hour Force Force L?::Z:Z(ie
(kJ) (kJ/h) (kN) (kN)

Er ErC Fs )
KHS 130-70 70 10 170 179 18.2 42.5 3 21
-100 100 15 270 188 17.8 48 3 24
-150 150 21 294 175 18.3 53.5 2.5 28
KHS 170-80 80 22 396 340 18.2 44.3 3 38
-150 150 41 574 340 18.3 53.5 2 48
KHS 190-100 100 40 720 500 17.8 48 2.5 52
-150 150 60 840 500 18.3 53.5 2 b4

Dimensions (unit : mm)

Stroke
(mm)

S

KHS130 - 70 70 290 130 98 4-922
-100 100 350 130 98 89 19 170 130 4-022

-150 150 490 130 98 35 19 170 130 L-022

KHS170 - 80 80 360 170 98 50 22 220 170 4-926
-150 150 500 170 98 50 22 220 170 4-926

KHS190 - 100 100 440 190 98 50 25 280 220 4-933
-150 150 540 190 98 50 25 280 220 4-933




KHS 220, 250 Series

Engineering Data

Max.Energy

Max.Energy

Max Buffer

Recoil

/ Cycle /Hour Force Force L?::Z:Z(ie
(kJ) (kJ/h) (kN) (kN)
Er ErC Fs )
KHS 220-100 100 L4 792 550 40.5 134 2.5 69
-150 150 66 924 550 41.8 131 2 76
KHS 250-100 100 60 1,080 750 38.5 111.2 2.5 130
-150 150 90 1,260 750 34.2 107.5 2 140
-200 200 120 1,560 750 33 105 2 150
-300 300 180 2,160 750 38 121.8 2 170
L > OE
> Stroke

Dimensions (unit : mm)

4—¢Gj€}ri. -DF || ‘

KHS220 - 100 100 440 220 116 4-033
-150 150 540 220 116 60 25 280 220 4-033
KHS250 - 100 100 480 250 138 70 32 320 250 4-033
-150 150 650 250 158 70 32 320 250 4-933
-200 200 750 250 158 70 32 320 250 4-933
-300 300 880 250 158 70 32 320 250 4-933




KHS 300, 340, 360 Series
Engineering Data

Max.Energy

Max.Energy

Max Buffer

Recoil

/ Cycle /Hour Force Force L:‘:I::Z:tie
(kJ) (kJ/h) (kN) (kN)
Er EC Fs i
KHS 300-150 150 117 1,638 975 46 142 2 186
-250 250 180 2,340 1,125 45 151 1.5 206
KHS 340-200 200 200 2,600 1,250 51 162 1.5 275
-300 300 300 3,600 1,250 49 176 1.5 305
KHS 360-250 250 294 3,822 1,470 68 178 1.5 324
-400 400 470 4,700 1,470 b4 182 1.5 376
Stroke

Dimensions (unit : mm)

x $Dl
=

KHS300 - 150 150 650 300 170 4-033
-250 250 850 300 170 80 36 400 300 4-033
KHS340 -200 200 800 340 228 100 45 440 340 4-039
-300 300 1,000 340 228 100 45 440 340 4-939
KHS360 - 250 250 900 356 280 100 45 460 360 4-939
-400 400 1,200 356 280 100 45 460 360 4-939




KCSC Series -—s= — ;
Stacker Crane Buffers 2 s
————

=

KCSC Series= Gas Return 8O Z Ojjefof| Hlgl Gas2t0] At X o 2 Z A M7/ 5fof
$10{ Low Peak ¥ Low Recoil Force £ ZF&LIC} 2] HASH Alofl= F20 Hst2ioz
SEI5fBA HIYA o= CHEBIA] ZHEA A E LI,

KCSC Series= X538} =l E-FA|AES] AE7] FoOlo)| £Z AJEEH= HZEOE Stroke
1500mm, ofL1X] E7E2 800 kIIIA] LHEES BFZS Mol 920, T o) SETAIE2
T g o2 ZF5f T JISL|CH FESF ARIRHY 1724 OSHA, AISE, CMIMA, DIN, FEM

So| 70| /0] Y+ SFoa LBt

£3

o X|cH AL2314 : 60 cycle/h
o 20} 5845 (oams e — 7 ————
o MERE: EFE (-10~-80C)
Special (-30~100c)

® Return : Nitrogen Gas
® Piston Rod : Hard Chrome( 25:m 0]4})
® Body 2! Mount : tHAHojA ==
o AIZX : AR{Z] F2|Ql, =0|7| 7, ASAMELEtel, 2b{s| =382l S
@ Options

- Protective Bellows

- Safety Cable

- Urethane Cap

- Mounting Plates

- Foot Mounts

- Sensor

ﬂ

Special type : Sensor/Urethane Cap

KCSC Series Ordering Information

KCSC 90 - 50 - RS - SC

T _|— Accessories [ PB: Eéﬂtoeﬁgve

SC : Safety Cable

FS:Front Flange

RS:Rear Flange UG : Urethane Cap
FM:Foot Mount
S : Sensor

Stroke

Body Dia

Series




Yy

KCSC 90 Series

Y
o

WX

2-915

4-014

0120

KCSC90-50
-100
-150
-200
-250
-300
-350

-400
-450
-500
-600
-700
-800

13
12

[




e
"~ f
ol @
q — | ]
e i

KCSC 110 Series

>
A\
O
~
(@]

[

4 G

F >
< > ’ 2-017

Engineering Data & Dimensions

Max.

Stroke Energy Energy

(mm) /Cycle /Hour

S (kJ) (kJ/hr)

E; E.C

KCSC110-50 50 5 296 115 370 230 113 40 60 270 120 25
-100 100 10 568 115 470 280 113 40 60 340 170 25
-150 150 15 881 115 553 339 113 40 60 379 194 25
-200 200 20 934 115 655 390 113 40 60 430 245 25
-250 250 25 1,056 115 757 441 113 40 60 481 296 25
-300 300 29 1,186 115 859 492 113 40 60 532 347 25
-350 350 34 1,352 115 960 543 113 40 60 583 397 25
-400 400 39 1,517 115 1,062 594 113 40 60 634 448 25
-450 450 44 1,680 115 1,164 645 113 40 60 685 499 25
-500 500 49 1,845 115 1,256 695 113 40 60 735 550 25
-600 600 59 2,168 115 1,469 797 113 40 60 837 652 25
-700 700 69 2,485 115 1,672 899 113 40 60 939 753 25
-800 800 79 2,806 115 1,953 1,079 113 40 60 1,119 854 25
-900 900 88 3,130 115 2,151 1,179 113 40 60 1,219 952 25
-1000 1,000 73 3,483 92 2,351 1,279 113 40 60 1,319 1,052 25
-1200 1,200 60 2,758 63 2,751 1,479 113 40 60 1,519 1,252 25

-1400 1,400 41 1,917 37 3,171 1,689 113 40 60 1,729 1,462 25



Yy

Ty

KCSC 130 Series

[

Max.

Stroke Energy Energy

(mm) /Cycle /Hour

S (kJ) (kJ/hr)

E; E.C

KCSC130-50 50 10 590 245 336 203 138 45 70 253 108 25
-75 75 15 659 245 387 229 138 45 70 279 133 25
-125 125 25 815 245 489 280 138 45 70 330 184 25
-200 200 39 1,110 245 640 855 138 45 70 405 260 25
-250 250 49 1,314 245 742 406 138 45 70 456 311 25
-300 300 58 1,512 245 844 457 138 45 70 507 362 25
-350 350 68 1,736 245 995 558 138 45 70 608 412 25
-400 400 78 1,934 245 1,097 609 138 45 70 659 463 25
-450 450 88 2,133 245 1,199 660 138 45 70 710 514 25
-500 500 97 2,329 245 1,301 711 138 45 70 761 565 25
-600 600 116 2,714 245 1,504 812 138 45 70 862 667 25
-700 700 136 3,102 245 1,707 914 138 45 70 964 768 25
-800 800 155 3,486 215 1,910 1,015 138 45 70 1,065 870 25
-900 900 167 3,785 181 2,156 1,164 138 45 70 1,214 967 25
-1000 1,000 117 3,824 147 2,356 1,264 138 45 70 1,314 1,067 25
-1200 1,200 103 4722 107 2,756 1,464 138 45 70 1,514 1,267 25
-1400 1,400 73 2,851 66 3,156 1,664 138 45 70 1,714 1,467 25

-1500 1,500 66 2,438 55 3,384 1,778 138 45 70 1,828 1,581 25




KCSC 200 Series

>

Engineering Data & Dimensions

—p

2-927

317
360

1

o
o
>

KCSC200-50
-100
-150
-200
-250
-300
-400
-500
-600
-700
-800
-900

-1000
-1200

126
157
188
220
251
283
240
210

Energy
/Hour
(kJ/hr)

EC
943
1,534
1,756
1,088
2,210
2,855
3,304
3,758
4211
4,661
5,114
5568
6,117
4,920

Dimension (unit : mm)

IIII!IIIIII:IIIIIIHIIIII:IIIIIIHIIIIIHIIIIIIEIII'II!II
430 294 344 m 40

532
632
739
836
1,032
1,234
1,438
1,642
1,844
2,048
2,252
2,454
2,854

345
395
447
497
642
743
845
947
1,048
1,150
1,252
1,353
1,553

200
200
200
200
200
200
200
200
200
200
200
200
200
200

65

100
100
100
100
100
100
100
100
100
100
100
100
100
100

395
445
497
547
692
793
895
997
1098
1,200
1,302
1,403
1,603

162
212
263
314
365
466
568
670
771
873
975
1,076
1,276

40
40
40
40
40
40
40
40
40
40
40
40
40



KCSC 215 Series

2-933

278

0270

<<
[

KCSC215-100
-150
-200
-250
-300
-400
-500
-600
-700
-800

-1000
-1200

100
150
200
250
300
400
500
600
700
800
1,000
1,200

Max.
Energy
/[Cycle

(kJ)
E;

120
143
191
239
287
334
382
478
417

Energy

/Hour
(kJ/hr)
E.C

1,804
2,051
2,290
2,530
2,775
3,265
4234
4,741
5,209
5,699
6,687
6,255

591
693
795
895
997
1,201
1,504
1,708
1,910
2,114
2,520
2,920

375
426
477
527
578
680
882
984
1,085
1,187
1,390
1,590

Dimension (unit : mm)

BNRODEE

215
215
215
215
215
215
215
215
215
215
215
215

80
80
80
80
80
80
80
80
80
80
80
80

125
125
125
125
125
125
125
125
125
125
125
125

F
435
486
537
587
638
740
942
1,044
1,145
1,247
1,450
1,650

186
237
288
338
389
491
592
694
795
897
1,100
1,300

40

40
40
40
40
40
40
40
40
40
40
40




KCSC 275 Series

>

A /

Engineering Data & Dimensions

2-2 40

380
450

2]

g

KCSC275-100
-150
-200
-250
-300
-400
-500
-600
-750
-900

-1050
-1200

100
150
200
250
300
400
500
600
750
900

1,050

1,200

Max.
Energy
/[Cycle

)
E,

78
117
156
194
233
311
389
467
583
700
816
790

Energy

/Hour
(kJ/hr)
i

2,445
2,766
3,053
3,373
3,767
4303
4,934
6,186
7,117
8,048
8,970
8,061

637
737
839
941
1,043
1,246
1,450
1,769
2,073
2,379
2,683
2,989

391
441
492
543
594
696
798
1,015
1,167
1,320
1,472
1,625

Dim

BHaDEE

275
275
275
275
275
275
275
275
275
275
275
275

sion (unit : mm)

100
100
100
100
100
100
100
100
100
100
100
100

160
160
160
160
160
160
160
160
160
160
160
160

F
461
511
562
613
664
766
868
1,085
1,237
1,390
1,542
1,695

21
261
312
363
414
518
617
719
871
1,024
1176
1,329

50

50
50
50
50
50
50
50
50
50
50
50



KES Series

t E Absorpti Visco-Elastic
es nergy sorption ; Buﬁer

KES seriesi= EEHSR A9 2 S8H5 45 220 221501 AZY 5o 52 287|802
HYE HIFC.E T} Hhoha 25101 12 £IB /0] bl 2 242 YFIE 7 gLt
8/L49] PO AZY JI5 U £ S |52 BF EHHT 0] HAAZZO/L

Y ATYY 22 SHFFIY AE0| SBR54T, HHSLIE SEHHNNE PR ST H5S

RAE 5 2= BHXO| ISLIH

s3

o X SE&HT 5m/s

® AI22L :-40 ¢~80C

@ Piston Rod : Hard Chrome( 25:m 0]4})

@ Body 2! Mount : %A / 22Xl NiZZ/ ofoAE 2

o MEX: BEMYFOI ZHESE, 55| dofd, XISA}, HEXIZ, sk, HE, HXIMUAS

Az £Y HEH 54

Fo: 20| & K: AZR 2N X: 9
C: M VIZESRE, 01<a<04

F=Fo+ KX F=Fo+KX+CVa
A A
8 8
o o
[ [
Stroke - Stroke -

KES Series Ordering Information

KES M - 116 - 50 - RF

_— (F1)
RF:Rear Flange M : Minie| 2fo{ ASN|=
it & omomus s
SR 7| E TEME
Stroke S : Stroke 2]
Stroke 7|& FLHH| =

H :Heavy 2f0f StHdd ®Z

Body Dia

Model : M, E, S, H &

Series




EEREE

Example : KESM

= |mpact velocity (Ve)

m |mpact mass (We) : 5 ton
m |mpact frequency : 20 impact/h

1. B0l (E)

_ 1

E, 5

w.v?
2. BT
KESM90-60

KESS50-150

ok

JEEE RS

= casel : KESM90-60

= case? : KESS50-150

s

02t

4. 7=
S,

Series

15m/s

E= % X 5,000 X 1.5 = 5,625 Nm = 5.6 kJ

ET=7[kJ] (E <ET)
ET=6[kJ]
€ =20<20-EL 20 —1 _25 [impacth]
e E 56 P
E
C,=20>8" ?T -8 % =8.57 [impact/h] (geim)

. =S (\/—E +1.36—1.17)
E7(0.03V+0.24)

5.6
=60 +1.36-1.17 | =52.3[mm]
7(0.03 X 1.5 + 0.24)

6. 21EME

—o

KESM90-60

E; : Max Energy/cycle (kJ)

Py |(ROmas RDmin 6 i 0.1 V2 +0.5)
= l(%) x 52.3+9o} (0.1x1.5+0.8) = 135.18[kN]



EEREE

Example : KESE Series

= |mpact velocity (Ve) : 1.8 m/s

m |mpact mass (We) : 40 ton

m |mpact frequency (Ce) : 15 impact/h

1. B0AX| (E)
1

Er=

A%

2, DEIJIMA
KESE160-140
KESS110-400H

3. 5185854

E- % X 40,000  1.8? = 64,800 Nim = 64.8 kJ
Ep =75[kJ] (E <Er)
Ey =100[kJ]

E 7
« casel : KESE160-140 C,=15<15" FT -15- % = 17.36 [impact/h]
E 1
« case2 : KESS110-400H C,=15>8" FT -8 % = 12.34 [impact/h]
4 ™ E
Se =8 || —————— +1.36-1.17
E7(0.03V +0.24)

64.8
=140 (\/ +1.36-1.17 ) =126.47[mm]
75 (0.03 X 1.8 + 0.24)

FME’

6. ZIZMH

KESE160-140

E; : Max Energy/cycle (kJ)

-
-

RDmax —RDmin
( S

( 700 — 400
140

)S.+ RDmin [(0.1X V, +0.8)

) X 126.47+400 } (0.1 x1.840.8) = 657.87[kN]

(goi=




EREE

Example : KESS Series

= |mpact velocity (Ve) : 2.8 m/s

m |mpactor mass (We) : 20 ton

= |mpact frequency (Ce) : 8 impact/h
= Allowable Reaction Force : 350 kN
= Allowable D1 : 150 mm

1. B0llUR] (E)

= % 1A% E= % X 20,000 % 2.8 = 78,400 Nim = 78.4 kJ
2, BHEIIME
KESS110-400H E; =100[kJ] (E <Ep)
3.5185E3T
C,=8<8 % =8- 718% =10.2 [impact/h]
4 RRYUA

S, =S (\/—E +1.36—1.17)
E7(0.03V +0.24)

78.4
=400 (\/ +1.36 —1.17) =290.8[mm]

100 (0.03 X 2.8 + 0.24)

Fope [(w )5, + RDmin (01X V; +0.8)
= l(%) X 290.8+175} (0.1 2.8+0.8) = 302.8[kN]
6. ZIZMHE

KESS110-400H

E; : Max Energy/cycle (kJ)




ol AX] HbH

=2 lL—_o0 od

Example : KESH Series

= |mpact velocity (Ve) : 2.8 m/s
m |[mpactor mass (We) : 80 ton
m |mpact frequency (Ce) : 8 impact/h
m Allowable Reaction Force : 650 kN

. BoAX[ (B)

_ L

2
AL

CBRITIMA
KESH175-850

30
ol
0
0

EBME

KESH175-850

E= —; X 80,000 X 2.8% = 313,600 Nm =313.6 kJ
E; =400 [kJ] (E <E;)
400
=8 = =102[i
8 3136 0.2 [impact/h]

S, =S (\/—E +1.36—1.17)
E7(0.03V +0.24)

313.6
=850 ( \/ +1.36 -1.17 ) = 658.0[mm]
400 (0.03 X 2.8 + 0.24)

Fop= [( RDmax;RDmin )5, + RDmin

(0.1XV,+0.8)

_ l( 600-330 |

350 X 658.0+330} (0.1x2.8+0.8) = 582.1[kNI

E; : Max Energy/cycle (kJ)




KESM Series
Engineering Data

Max.Energy Dyn. Impact
/ Cycle Reaction Force Velocity Weight

(kJ) (kN) (m/s) (kg)
Er __RDmin | RDmax | max |
KESM25- 12 12 0.1 6 11 2 0.3
KESM35- 22 22 0.4 14 27 4 0.7
KESM40- 22 22 0.4 14 27 5 0.8
KESM50- 35 35 1.5 28 60 5 1.9
KESM60- 35 35 1.5 28 60 5 2
KESM75- 45 45 3.5 45 100 5 5
KESM90- 60 60 7 90 150 5 10.5
KESM110-80 80 14 130 230 5 17
P L1 N - L1 .
_ Stroke P L2 _ Stroke

D5
L2
e " -
i )
4-D7

Dimensions (unit : mm)

KESM25-12 75 53 10 7 19 M25x1.5 20 38 57 41 7
KESM35-22 120 98 12 8 25 M35x1.5 32 52 80 60 9
KESM40-22 120 98 12 9 25 M40x1.5 32 58 - - -
KESM50-35 175 140 12 11 38 M50x1.5 45 70 90 70 9
KESM60-35 175 140 12 1 38 M60x2.0 45 70 - - -
KESM75-45 213 168 10 13 60 M75x2.0 72 98 122 100 "

KESM90-60 270 210 12 16 74.5 M90x2.0 90 120 150 120 13
KESM110-80 337 257 14 19 90 M110x2.0 110 145 175 143 18




Ay

Lwl‘

W,

KESE Series
Engineering Data

Max.Energy Dyn. Impact
/Cycle Reaction Force Velocity
S (kJ) (kN) (m/s)
e | Romn | Romax | _max |

KESE116-105 105 25 167 310 4 25
KESE142-130 130 50 260 500 4 37
KESE160-140 140 75 400 700 4 45
KESE180-160 160 100 470 820 4 73
KESE215-180 180 150 640 1100 4 117

oL6

o "
!404

oL6
o " L2 L
4ﬁ+

4-D4 AN

Flange

Dimensions (unit : mm)

m“
415 275 140 20 15 135 105 116 87 120 14

KESE116-105

KESE142-130 500 325 175 30 15 155 125 142 117 140 15
KESE160-140 520 315 205 30 35 175 140 160 132 158 18
KESE180-160 585 350 235 85 40 215 170 180 153 185 22

KESE215-180 670 405 265 40 45 250 195 215 182 220 26




KESS Series
Engineering Data

Max.Energy Dyn.
/Cycle Reaction Force
(kJ) (kN)
A T T B
KESS50- 150 150 6 3 4.2
KESS75- 150 150 12 66 100 3 1
KESS75- 200 200 12 42 78 3 11
KESS90- 200 200 25 95 150 3 20
KESS90- 270 270 25 66 112 3 25
KESS110- 275 275 50 118 230 3 40
KESS110- 400 400 50 75 150 3 40
KESS110-400H 400 100 175 320 3 65
KESS110- 600 600 100 85 230 3 65
KESS110- 800 800 150 80 250 3 115
L7 - L2 . L3 .
L8 Stroke

4-D5

Dimensions (unit : mm)

D2

-

N

D4

L

Ul |3 || ts ||t s o o2 0o D405
B Y RN TN S R e Y EEY EEY RN T K

KESS50- 150 410 179 70

KESS75- 150 480 285 195 18 15 12 110 85 75 90 57 80 11
KESS75- 200 530 285 245 18 15 12 110 85 75 90 57 80 11
KESS90- 200 620 370 250 20 18 12 135 105 90 110 72 100 14
KESS90- 270 690 370 320 20 18 12 135 105 90 110 72 100 14
KESS110-275 855 520 885 25 20 15 175 140 110 150 87 120 18
KESS110-400 980 520 460 25 20 15 175 140 110 150 87 120 18
KESS110-400H 1,370 910 460 25 20 15 175 140 110 150 87 120 18
KESS110-600 1,570 910 660 25 20 15 175 140 110 150 87 120 18
KESS110-800 2,640 1,780 860 25 20 15 175 140 110 150 87 120 18




KESH Series

Engineering Data

(kJ)
Er

Max.Energy
/ Cycle

Reaction Force

Impact
Velocity

KESH130- 400 400 100 190 310 3 63
KESH140- 500 150 200 380 J 90
KESH140-400H 400 220 380 685 3 100
KESH155- 650 650 250 270 490 3 135
KESH175- 850 400 330 600 3 218
KESH200- 1050 1,050 600 370 740 3 295
KESH220- 1200 1,200 800 430 860 3 420
KESH230- 1300 1,300 1,000 500 1,000 3 470
oLz L2

Dimensions (unit : mm)

| Ju e [u]]
mmmmmm

KESH130- 400 1,120 175 140 130 110 140
KESH140- 500 1,350 775 575 30 25 215 170 140 120 150
KESH140-400H 1,258 783 475 30 25 215 170 140 120 150
KESH155- 650 1,750 1,025 725 30 25 215 170 155 135 170
KESH175- 850 2,185 1,250 935 35 25 265 210 175 150 190
KESH200- 1050 2,555 1,420 1,135 35 25 265 210 200 175 215
KESH220- 1200 2,935 1,630 1,305 40 35 300 240 220 190 235
KESH230- 1300 3,225 1,820 1,405 40 35 300 240 230 205 248




KVD Series

Elasto-Fluid
Heavy Duty Buffer

KVD Seriesi= FIEHIRAS] £A B35 245 2l2IZ 018510 AZg e 57

B2 Hus HECR TE| Hs4m 7 m5l0] 2 Szt Zo|of HisY 2 HBES TS

est Energy Absorption

250/

BiLic}. s/L49] AXOIA AZY Y £ S5 JI5S 27 2I0] SHFAI} BER547,

e 9l3t 2ratZofi s 75

x|
o

dlm

=
2L 85 RAE T s FHE ZE HELHC

Rear Flange Mount type

® |Leakage?} 91
® 700kNO|AH 1 500kN7JIK| = F2MAL Tt
o Al 2 H2|: 20C~80T

e SE&L: 002 ~5m/s

@ Bellows, Safety Cable2 ME4AI2E

KVD Series Ordering Information

A7|ZE ARZA = X 2471 2agl

(=]

[=]

o HST|ata| : WY oz
o AIBH : BE MY Hoto| 57 54 % Hof
@ Special Type

-HE 2R EH

-2 #2940t ~120C

KVD 100 - 100 - RS - BC

Accessory
C : Safety Cable
B : Bellows
Mount Type
Mount Type |_
RS : Rear Flange Mount
Stroke |—FS : Front Flange Mount(FZAl2¥)
Body Dia,

HEYRA 2E gy




KVD Series

KVD Series L

E-oF

A
A4

Stroke

»

|-
<<

Engineering Data & Dimensions

Stroke Ma}‘ésazrgy Max.Dynamic | pretoad | L c PCD | E-OF |Weight
(mm) ) (kN (kN) | (mm) (mm) (mm) | (mm) | (kg)
50 3 76 4 220 55 28 12 90 3

KVD55- 50 70 4-09
KVD100- 50 50 9 250 9

236 23 100 32 17 155 130 4-@18
KVD100-100 100 18 360 11
KVD130-100 100 33 385 19

421 40 130 54 28 222 176  4-026
KVD130-150 150 50 495 20
KVD180-100 100 51 430 46
KVD180-200 200 102 643 88 650 180 58 45 322 251 8-@30 50
KVD180-300 300 154 880 56

Accessory

Bellows Cover Safety Cable




KRC Series

Rate Controls
| i3t < Hjo{7f

015 S50}

gl-

KRC Series= 222 0/& HH[9 2refet & EHEfet ol
155t E HA|Ejof 7[AEA| S| SHE FEE 1 HHSAH Hofg + 22,

ALEX}O| B2 ZZ0j| [}t Adjustment DialS 0810jA1 128174X] O/ Z=XiSf0f

AtEE + gL,
E x|
-/ O
o Xt AF23l4= : 60 cycle/h @ Piston Rod : Hard Chrome( 25m 0|4}
o XL AIREE : 06 m/s e Body & Mount : =M tr= Ni 22
o MERE: EFE (-10~-80C)
Special (-30~100)
KRC Series Ordering Information
KRC 30 - 50 - E
Direction : E(2IZ}),
C(=),
EC(QI ML)
Stroke
Body Dia
Series




KRC 30 Series

Engineering Data & Dimensions

Stroke
(mm)
S
50

Max. Propelling

Dimensions

(m/m) Direction

I -

KRC30-50 3,000 310 250 200 176 E.C.E&C
-100 100 3,000 380 350 250 226 E,C.E&C
-150 150 3,000 450 450 300 276 E,C.E&C
-200 200 3,000 530 550 350 326 E.C.E&C
-250 250 3,000 600 650 400 376 E.C.E&C

.95 _, .63
B Stroke

»ld

Adjustment Diagram

r@S

0127
26

Velocity, m/s

Compression
KRC30
-250 -200 -150  -100
050
0.45 /”
»
0.40
0.35 .
0.30 // .........
2 o2 // ......
> 020 /o P
8 o015 / == --"
= 0.10 /, -1 —
005 é”:_ ==lr=--"T
000 £
0 500 1000 1500 2000 2500
Propelling Force, N

0.50
0.45
0.40
035
0.30
0.25
0.20
0.15
0.10
0.05
0.00

Extension
KRC30
-200 -150 -100 -50
Dial O
...... Dial 3
AL e
7
/ ..... —-={ ---- Dl
/. SEL I
/. ] -
A". _|L - -4 = — Do

500

1000 1500 2000 2500 3000

Propelling Force, N




0
2
c
1)
1))
(@)
18
"4

KRC 50 Series
Engineering Data & Dimensions

Max. Propelling : :
Stroke Force Weight Dimensions -
(mm) (N) (g) (mm) Direction
: A [ 8 | ¢ |
50

KRC50-50 11,000 11,000 2,000 250 200 175 E.C,E&C
-100 100 11,000 11,000 2,500 350 250 225 E.C,E&C
-150 150 11,000 11,000 3,000 450 300 275 E.C,E&C
-200 200 11,000 11,000 3,300 550 350 325 E.C,E&C
-250 250 11,000 11,000 3,600 650 400 375 E.C,E&C

¢|\)A A A
[e¢]

228

Adjustment Diagram

Compression & Extension Mode of KRC50 Series

0.60
050 /,/ Dial 0
0.40 e e ians

/ ............ Dial 3
0.30 pd -

. ...
/ -
.* -
. J
R ---- D6

@
g
2 020 [ =
i - Ja--
S .-"
2 / L-” --T
0.10 AP _L--" — — Dial9
ORd L -
Lo -
000 £~
0 2000 4000 6000 8000 10000

Propelling Force, N




KRC 70 Series
Engineering Data & Dimensions

Max. Propelling

Stroke : Dimensions
: Comp A | B |
KRC70-50 50 20,500 20,500 1,700 237 180 E,.CE&C
-100 100 20,500 20,500 2,100 339 231 E,.CE&C
-150 150 20,500 20,500 2,400 441 282 E,.CE&C
-200 200 20,500 20,500 2,700 541 332 E,CE&C
-250 250 20,500 20,500 3,000 643 383 E,.CE&C
-300 300 20,500 20,500 3,300 745 434 E,CE&C
-350 350 20,500 20,500 3,700 847 485 E,.CE&C

Adjustment Diagram

Compression & Extension Mode of KRC70 Series

Propelling Force, N

0.7
04
/ e
05 P T
04 ,/ """" LeemmTT
" / ___________ - L -
€ 03 e L=
oL - e
3: /..°_- .- | ——
g 02 e L—
kel P |
2 //:;9 . /”,——’,——’____——______________-———————-—
0.1 7 )~
s
0
0 2000 4000 6000 8000 10000

12000

Dial 12




KHC Series

Hydro Check est Energy Absorption

x|
S

dlm

® Hydro Check = X35t 0|4 2|01 |, SIxIM0{7} 7Hs3tm of i3t 0| S RH|BLT £ ZX0| o|M5HA 7Hs3i clekst 87}
Stroke ¥ 2 FH|E|0{ QLELICE

@ Hydro Check = Z|2 2 =X0| H2|5}2 Adjustment Knob £ 300° 82| 2 O|M|Z&M510{ M3 0|52 ¢S 4 9lo] 279 $HE
4ZA|F{ZF0d, Auto Feed Drilling, Grinder, Cutting & X &tst 0|42t 2 @ Fat=r| M0o{EL|CH,

® Piston Rod = A& 3 & T2 2| Elo] 120, Body = E2X{2| 2 &tz 2|5t &AM HEX|5l0] FL|C,
® Accessory 9| Snap Ring } Mounting Block € 0|25}0{ 2|52 7tcks| & 4 9111 9|%|0|S, & 0| Ha|sh|c}.

® Hydro Check LH50{| Oil2 X} Filltering0| E|04X|0f, &+ LESHH 2 EM|0{7} E7| w204 oftd 5t ol = Ztedo| Ha|3tct,
o AF22E : Driling, Cutting, QFIEH|, MZ7| S STH0{7} Q35 2

o AlZ2r : EFE (-10~80%T)

Special (-30~100%)

KHC Series Ordering Information

KHC 24 - 15 - S - SO

S : Step Check unit

Stroke

Body Diameter

Series




KHC 24 Series
Dimensions & Engineering Data

A C From Axis Load Limits Feed Rate Limits
(N) (mm/s)

KHC24 - 15 157.5 21 1.2°
-30 202.5 19 1°

-60 60 312.5 16 26 0.5° 100~2,500 0.2-30 635

-90 90 382.5 16 0.3° 745

-120 120 472.5 16 0.2° 885

Stroke BINISRSIONGS Max Speed Adjustment Range :
(mm) Weight
(mm) Load Angle
S (g)
15 385
30 450

Adjustment Dial Snapring
; f Furnished

Mount Block

MB 24

57
36.6

]
2
c
[
0
8]
L
X




]
2
c
[
0
8]
L
X

KHC 31,38 Series

Dimensions & Engineering Data

Stroke SUSRSIONES Max Speed Adjustment Range :
(mm) Weight
(mm) Load Angle — -
. Load Limits | Feed Rate Limits (g)
S A C From Axis
(N) (mm/s)

KHC31-40 40 270 230 10 1,040
0 60 340 279 31 12 05° Py 0.2-30 1,245
2100 100 476 375 0.3° ' 1,655

KHC38-640 60 321 261 0.5° 1500 2490

38 14 ' 0.3-30
-100 100 454 354 0.3° -5,000 3,310

Adjustment Dial 7

Mount Block

Stroke

>l
P

MB 31




Step Check Unit Series
Dimensions & Engineering Data

Step Check Unit2 Hydro Checkg} £ Ao 7|52 2oLt dsl= X0l Szt "X 7|%% o Ack= |'0|7} AL
Long DrilingZ{ed, UM S 27 6t= 2], S2tol| Chip i E0| 225 2t S0l AFZ =0, E+2 0| ¥AH FEFE T 7Hsehlch

Stroke Return Weight
[mml lmml [mml (mml Type ()

KHC24-305 224.5 500
-60S 60 332.5 Air 685
22 35 8 23.8 32 _
-90S 90 404.5 Return 795
-1205 120 4945 935
Adjustment Dial 3-Clamp Screws c Step Check Unit
\ Air Port(M5x0.8)
oD
< A »
>
Hydro Check 5 48H
Body\ Snap Ring
271 2| Snap Ring £ 0| &30 F| & & 4 /2o,
=X %2 FrIg0| 2 & uff AlEE 4 A5 o
\ ¥ Mount Block 35 £ xI2{0| 283 o
Hatsin %5 9I%|2 sks Szl & 4 2lo]
Load
AL20| 20| 8t}
Stopper 1~2mm
Fo| At
1. Hydro Check BodyS Bolt2 Z0|7L} 7}25HK| OMJAIL. (ZRA| AHHI 9))

2. Hydro Check #&A| #|F2t= & Catalog Of A= =EE FHZ510{ 75 A|FHofstm, F521X|7t Ho{LtH HolE 3 40| 4A
Hydro Check s+ H51t 77| &4 2 & = AFUCH

]
2
c
[
0
8]
L
X




Gas Spring

KG Series

8% type

est Energy Absorption

x|
S

dlm

19 IIAE 0| 23}= Gas Spring 2 et A=d EM Long Stroke, M2 AZE My AGOE I 51E, A= A9
ST H0{7} 7tstH, B2t 288 4 e BEE AUz A20{ et Plate Spring, Coil Spring o H[sH QFE={Ql &S
HE 4 AFLICH
o A22L: EEE (-10~60C),
Special (-30~100C)
o AL2A} 20 iz} Size, Stroke, Force, | AHA S F2H|ZH0| Jts g Ct
o AZX :7|AZHIFH, BEESH, HWEHH, LSHXIFH, 7|AIZR], Q=2HH| &

 —

<

Body Mount .
End Cover Body Piston Rod Cover Piston Rod Rod Mount

/

KG Series Ordering Information

KG 30 - 100 - H H - 100N - 268
T T T T FESAAH
—‘7 T Nominal Force

Body Mount Type

Rod Mount Type

Stroke
Body Dia
Series
\ (Contet o Door T F: Sprlng FOFCG(N)
Weight)
/ W : Door Z2kkg)

A Hingedl|A{ Gas Spring 7}X|2| % 72](m)
B : Hingeof|A{ Door £H|S4 71X 7{2](m)
n: Gas Spring Q| F|§ s2¢

ol - WX gxB (V) g: &8 JI&5(9.8m/s)

AXnx0.95

Gas Spring 2| RE2|R &5 2[5t
Oz 20| Body F7t AH&H0| EIA|
Ax[3o} giLict




KG 15, 18, 22, 30 Series

Thread Thread
S m

5B B 0C rQ—@E

(1))
o
[ 4
1))
0
o
¥
(o)]
£
<
o
0]
(1))
©
L]

2-981
, |
T __.QF O
2B
H Y

i 5+ Stroke 2C A+ Stroke Ai

B-B(S&® | §7-| 2|) = Stroke x 2 +A + 5
A-A Z|EZA72|(SEM Q) = (Stroke + D)X 2 +A + 5

Yy
V

Dimension (unit : mm)

Max Max
(mm) P (N)

Mé6x1.0

I 13 8.1 3.2 - - _
KG15 200 35 6 15 3000|5t

R 20 13 12.5 - - M6x1.0

L 15 9 3.2 - - -

S 10 = - = = M8x1.25

I 20 8.1 4.0 = = -

R 22 18 14 = = M10x1.5 }
KG18 250 40 8 18 6000|5}

L 15 9 3.2 = = -

H 19 18 - 10 8.1 -

Y 32 16 8 18 8.1 =

S 10 - - - - M10x1.5

| 19 8.1 4.0 - - -

R 22 18 14 - - M10x1.5 )
KG22 300 60 10 22 9000|3}

L 15 1 3.2 - - -

H 19 22 - 10 8.1 -

Y 32 16 8 18 8.1 -

S 18 - - - - M14x2.0
KG30 350 60 16 30 R 57 21.5 42.5 - = M14x2.0 1,2000(5t

H 39 30 = 20 15 =




(1))
o
[ 4
()]
0
o
¥
(o)}
£
[
o
0
(1))
©
L]

KG 35, 40, 50, 75, 100 Series

Thread r o B sC r Thread
S e

2 C

AbQSB

-
R Ey
—

A

Thread

B sC
e ————— o
o a&@“
H 5+ Stroke | A+ Stroke

g

D B-B(SH #E=4l7{2]) = Stroke x 2 +A + 5 D
A-A FESAMI2|(SEH|2]) = (Stroke + D) x 2 +A + 5

A A

Dimension (unit : mm)

Max Mount Max
Stroke A C Tvoe F Thread Force
(mm) yp (N)

S 22 - - -

- M16x1.5
KG35 400 70 20 35 R 64 23.5 43 - - M16x1.5 2,0000]5t
H 35 30 - 20 15 -
S 25 - = = = M18x1.5
KG40 500 70 20 40 R 71 28 42 = = M18x1.5 3,0000(5t
H 40 85 = 28 16 =
S 30 - - - - M20x1.5
KG50 700 80 25 50 R 78 27 43 - - M20x1.5 5,0000(3t
H 50 40 - 34 20 -
S 35 = - = = M24x2.0
KG75 1,000 140 35 75 R 94 30 51 = = M24x2.0 8,0000]5t
H 70 60 = 40 30 =
S 35 - - - - M30x2.0
KG100 1,300 170 40 100 R 110 35 56 - - M30x2.0 12,0000|5t
H 75 70 - 50 35 -




S Gas Sprin
nB\ pring

KGP Series

oIz type

est Energy Absorption

0

E
=

® % Gas Spring 2 & uf 0| ZE5}X| 2t Pull Gas Spring 2 22 mff 810| &t&Ssl= HIESZE 7|AI7H JHH|, &5t 28A| 2 SHME
H2 oz 0|1 &l fHOE HFE=T|AH 2 7 B3 7|9 FH JHHA| F2 AL2ELICH =5t HHEA BH| Y
7|& Gas Spring o| 80| £7fet uff &2 0| ALZE|2 AU L
o ANERE:EFE (-10-60%C)
Special (-30~100C)
o AL2X} 2o 2} Size, Stroke, Force, A|AHA S F2H|ZH0| s & CE
o ALEX :7|AHIBHIZIH, EESY, WEIH, TSTRIFH, 7| AIZR, =22 &

Body Mount Body Piston Rod Rod Mount
—

KGP Series Ordering Information

KGP 30 - 100 - H H -100N - 268

F S

Nominal Force

Body Mount Type

Rod Mount Type

Stroke

Body Dia

Series




KGP 22, 30, 35, 40, 50, 75 Series

Rod . :
Thread

r Thread ; 2B oC r

")
2
<
]
)]
0o
D)
2
o
£
<
o
1))
)]
@
o

S
A
R E
FJ@ L 4B
A Thread
2B
e | QD
i 0.
H - 5+ Stroke Qg 2C A+ Stroke

D B-B(S& %/ SZA17{a]) = Stroke x 2 +A + 5 D
A-A FESAMAHE|(SEHA|Q|) = (Stroke + D) x 2 +A + 5

A A
y

Dimension (unit : mm)

Max
Max Mount
W“ﬂﬂﬂ'ﬂ it
S 10 - - - -

M8x1.25
KGP22 300 80 10 22 R 22 18 14 - - M10x1.5 2000]5
H 19 22 - 10 101 -
S 18 - - - -
M10x1.5
KGP30 350 90 12 30 R 22 18 14 - - 9000|5t
H 35 30 - 20 15 -
S 22 - - - -
M12x1.75
KGP35 400 125 14 35 R 50 19 30 - - 1,2000]8}
H 35 30 - 20 15 -
S 25 - - - -
M14x2
KGP4D 500 130 16 40 R 57 215 425 - - 1,500013t
H 40 35 - 28 16 -
S 35 - - - -
M20x1.5
KGP50 700 130 25 50 R 78 27 43 - - 2,0000] 5
H 50 50 - 34 20 -
S 41 - - - -
M24x2.0
KGP75 1,000 130 25 75 R 94 30 51 - - 3,0000|5}
H 70 60 - 40 30 -




o 1-7,\ Yy’ 4 Gas Spr-l.ng
EDa 2 KGL Series
est Energy Absorption
- Free Lock Type

X
o

Aim

® Free Lock Gas Spring = Gas Spring 2 220 #ME 25 JIX| 1 1o, Ash= 212[2] 2|X|o|A
Lock Ping =202 M StrokeZ M&t 4= QJ= Free Lock 7| 50| Z71El ®MIZQIL|c},
o AIERT:EFE(-10~80C)
Special (-30~100%C)
o AL2X} 20 2} Size, Stroke, Force, A& S F=2H|ZH0| 7S C
® AL2x| : Door, EXE3 o[k}, o|Z27|A|, Cover S

® s
10 19 <B—,L%,L,H¢L°Ck Stroke:6
A

|

R10 j‘ %10 r@ 28 T@ 10 M10x1 _ow :ook Pin
18

KGL Series Ordering Information

KGL 28 - 50 - 200N - SO

Nominal Force

Stroke

Body Diameter

Free Lock Gas Spring Series

Dimension (unit : mm)

Stroke (mm) Force
S (N)
50 250

KGL 28-50 157
-80 80 330 207
-100 100 370 227 100~1,300
-150 150 470 277

-200 200 550 307




www.kobapage.com

il

KOBA Co., Ltd.
MEA ST CIXIEZ 9232 ZST2|0|EH2| AS 125
Tel : +82-2-3397-7800 Fax :+82-2-3397-7811 E-mail : koba@koba.co.kr

* 2 JIC120 LSS A5 S SistA olngiol HaE 4 B



	2016코바카다록_국문_3p_61p_00
	2016코바카다록_국문_3p_138p_내지_(낱장)웹용
	2016코바카다록_국문_3p_61p_내지_(낱장)웹용
	2016코바카다록_국문_62_138p_내지_(낱장)웹용

	2016코바카다록_국문_3p_61p_000

